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ofyey: I jﬁ@mg@ oends@nn sfuns sdal) ubannd) DETEIST  CIGHILIDS
L '75.@] & )& rr6ir GTTG),!LD NFFHL] Uﬁaﬂ@‘u @@M@ULQG&I éﬁ@ﬂ)&;
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mnstructions : 1. Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall supervisor.

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
GO : BalelleTSSI6T Bci L‘t'ﬂﬁm;ascsmerra; ClasirdsrL g

Note : This questlonpap_er.coln_tams’fourparts ~ GREEN GARDEN MATRIC. HR. SEC. SCHOOL
~ Perundurai R.S.
u@# 1/ PART I, . 9486379461, 8344933377

@oliy: (i) DTS w145 EHELID el tieRdsayd. S
(i) WBsayd * QLIT@BSSLOTET - oS?a)Luﬂsnm Gg,ggg@g,@g,g,j g;g,a‘a'r @ML@‘LW
aflenL_uflenawriLb TS5 e - 4
Note: (i) Answer all the questlons Sl 12 x 1312‘
(ii) Choose the most suitable answer and write the code wath the correspondmg answer.

1. semISBTHS 6TEOTLSI

§ o) e_hHLrnHml afg fyn- ST Qg,) aflens wpgpw &IT6V m:r;_r)p sﬁg,m M
| ) o pg wrHpd RN Qﬂmm aﬁ’«:: wrrmmw : '
Impulse is the Bt i L e i

a) rate of change of momentum AT b) fate Of change of force and time _ e

¢) change of momentum
2. gm Qur@Gener Qmuuuu@gﬂmw@mm

d) rate of change of mass ; i
:giaumgu @aﬂwmﬂ,sgaw@a)n' a;uGlun'@srﬂm

@l)aigﬂﬁ,ﬂj;@ﬁ]” T Y. ﬁ.)@mmuw e S
@) wrppibives ) oaniei e gopul
f that substance,
i dorcoolcd then the mass 0 G st ol nabnosss
;fa.l substance is DRI v b) decreases .
) InCreases, g (b ) elther mcreases or decreases _ X

¢) remains same g gy LI

= L ¥ 8y
LI e ¢ A
RS SN {
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3. gefl o miHd Grdgis HmsGusd STIHS FpssrTEtd euLStinme @m‘lg
sufienzullsy sufienal) LB SIS, ]
3)) srhy > semenTry > B ) F7 > &Y >..ssmmrrrq.
@) serenmrg < BiF < sTDM ) aseirenvIid " Fr >arhp
Arrange the following media in descending order 00 the basis of speed of sound

a) air > glass > water b) water > a:‘t;ih::
¢) glass < water < air d) glass= W

4. &pmeir_subhpieT sTHI QP apsvdsnm?

o) GepECuray o) afallud @) sriusroLBEmED ) ""mtrg*
Which of the following is a triatomic molecule? o
a) Glucose b) Helium ¢) Carbon dioxide d) Hydrogen

. seflviisaisr pefer g aifbser a;l'_l_mmmruﬂd! Gapmgst GROUSsallioygs:

...... Gsrgdlemws Crpsmal

=) 1Taugm =) 150151 @) 18euzy ) 16sug i
In modem periodic table of elements group contains the CIMtS:f halogen family,
a)17" b) 15% Q188 d)16

6. wremrei o Hfelud GriwpsD Gfrﬁmsﬂ:ﬂfﬂ‘it Burg ﬁi_(hmm
mapC rréman® @ohsuTiigena uwaTu@SSw Lﬂwn..arn_‘q,a‘nw :ﬁ'pgﬁg masy
ol @s GeermallLmi. Awprismsfiss a;surram?ﬁuun_quu ) 2.fiy
CrradwCurg FHangald Bnps Cerguid m;minrwsmfru@ G;.Frrwm ﬂ;?
angelley @@iumsl urisgri. Gsparar sryom Grrigwid HADLTTEmaysS

reeeeenasees LIGBUTL] BYGHL0.
=) Frie_ fgsfssmrs ) Frive gpa s
@) FiEssbemL B0 F)Uf s wenL g

While doing a science practical experiment, a student left a bottle opened after usa
contained solid sodium hydroxide. When the student visited the laboratory again W
of sodium hydroxide. i
a) Hygroscopic ¢) Dehydration d) Dissociation '

7. wed sumiiumi 1367 Sy liueLul gweds srewiuLTs UdImS o A
&) EenLaurdil U '

days and found only liquid sodium hydroxide in the bottle. This is due to ........

b) Deliquescence

o) WeiTEmLeuri L)

@) Gleul Hib s ) Garepris sy
According to the dental formula -—.— kind of teeth is absent in rabbit.
) molar b) pre-molar <) incisor d) caniné
8. waflg apmarulled SL55 swwrss Q&uq':u@fn usg
AurEE B G ougymer ) hpee |
142

Note :

w

The part of human brain which g

5 as relay centre is
a) pons

b) thalamus ¢) cerebrum

" - d) cerebellum

9. wElipd WETBSE grafsr e-pusd) Qadislisy penLGlumi el susns
) UL o) Wusrfsrp
The type of cell division aceurs jn
a) Mitosis b) Meiosis

@) smwlLrdflav &) oy, whmid @
generative cell of mature podlen grain
= ©) Amitosis d)both b and ¢
10. Gprav o ullflitig eukisaflgr STRVSMS 2y flw o_sayis Aptiurer sHELTMHWL apsmm
) GruGur srirucir gpany ) yGraflwn - srfw weom
@) QurLLrdlu - yisre yon ) o 1Hzys @)
The best way of direct dating of fossils of recent origin is.....
a) radio-carbon method

i b) uranium-lead method
¢) potassium-argon method

d) both a and ¢
e ewa ymsullas sty fems
=) G 3 ) 279687 6 @) eriarsiy 22 F) HyaGLrui 2
World 'No Tobacco Day' is observed on
a)May 31 b) June 6 ¢) April 22 d) October 2

12. dpssramumghoudr fred (script) o mardsuuwsiiu@aus: sis ?

=) Script area =) Block palette  (3)) Stage ) Sprite’

which of the following is used to build scripts? f

a) Script area b) Block palette ¢} stage d) sprite
ugs 11/ PART II

(i) Answer any seven questions: (Q. No.22 is compulsory) Tx2=14

@iiny: () oGsayin 7 alammsenie da waflbsayb.

(ii) (sflen eretir 2248 s L munona Lideveldsayto)
13. suremin syt fsv Hpurss Carermdng?
Why does the sky appear blue in colour?
4. Bupes wHmd  GFupmss sfflwssidar aCsgun @ren@ udTysmer
RATEAT g .
Write any two features of natural and artificial radio activity?
15, Beir wppin ferr Gouglalmemsamar Cagussis.
Distinguish between reversible and irreversible chemical reactions. .
16. &ipdsaseiom,_ G iotumafiir srtud siied Oprifiar oeuITar oy iuieo L ulld
VELLGEE oy aurbuTsmL Sp5IE:
() yro@uesr (i) Queirdar
Classify the following compounds based on theP
Structural formula:
(i) Propane (ii) Benzene

attern of carbon chain and give their
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7. eUTeGeomi SHenm sTeTmTeD sTETaT?
What is vascular bundle? ) .
® ilﬂf ol = p@priwremsy Grienid spGPILLL T AVPEEiLGL,
Why is circulation in man referred to as 'Double Circulation'?
19, ULSHG o srer puIL LTHSSITET GDPUTL QM SHDLUWTMD Sreing)
sT6iT sy ADE?
Identify the disorder with which the person shown in the figure is suffering
20. sreurmsst wppih aflwigsafia wilarming lensy FTSHTSTHTE 6T6ir
SHSUILEEDS?
Why is Euploidy considered to be advantageous to both plants and animals?
21. e ullfl surwyenauls uweTLE S5I0S5T 5sirmmasairun'mm?
‘What are the advantages of using biogas?
22. \Beir grad) peirgs 1.8 Ball? g@bsbgsr £Cy paidps rafld 50 414 Pap
GasreTL ualisi sreususrey Ggrhm srenLuflener o_auriteuri?

A lift is moving downwards with an acceleration of 1.8 ms™. What is apparent weight
realised by aman of mass 50 kg? K
ugg I/ PART HI

@ity : () gGsgub 7 cflcandaende el weldsab. T x 4=28
(i) (afem eredsr 3245 &L MuLHTS vleverldsan)
Note:  Answer any seven questions: (Q. No.32 is compulsory)
23. Qurmsss
ugs | ugd Il
=) By rsifleir gppevalg] i) 4051 gaysedlsd uwSTUGHADS!:
24) Py adr Graiwiris 18] i) Qurgpi-sefeir swBowe "
@) w1 aflsr gsirmr afg iii) afleneulleir aflg
) CrisGari® iv) upensy Ups 5l LweTLGADS!
2_pso)fialsrenal)
Match the following
Column I
a. Newton's I law ) - _
b. Newton's I law propulsion of a rocket

i) Stable equilibrium of 2 body ; :
iif) Law of force {
iv) Flying nature of bird

c. Newton's ITT law

d. Law of conservation of Linear momentum

i

24. 1) perallflad wemain gy,
j K Qaur ;
ii) il}; . muu;ﬂs.muuﬂm 26 Agniaiu geimgsr Fors 50 of sraflst oypenar 323
ulUElema s, QauliLinGys g Gurg) syseir FarsAd UG

wrppsLlenar somd [, ( Sjgnflefluss A Faralfays gamsn 23X 105K )
i) Define : Co-cfficient of linear expansion,

il

jl11e lengfll of an aluminium rod at the temperature 303 K is 50m, What would be its
increase in length when it is heated to 323 K 2 ( The linear co -efficient of Aluminium is

23X10°K™)
2. 1) sg@rTsd Calusiies Comauirer Grein® Pupsmersmas awmis.
il) s AQrTsilulleir wmssions Lusrssr Bramgenerd sy
i) State two necessary conditions for hearing an echo.
ii ) What are the two medical applications of echo?
6. 1) oywCuralluralid osdur e rmer syemalssads Gmusmus FarE LB,
i) A srsirugGaushaflullsrQeusianio Guirdinn o Garsib. A g 'O 2 L ar800°C
uisvallenarflis Gsrwn B enuw 2 Faursgang,. A ullst = Cursdsasnar
aflorarsgleTursdisatsiuinudruGans A wnmh B mésain s
i) Calculate the percentage of nitrogen atom in ammonia molecule.

ii) A is asilvery white metal. A reacts with O, at 800°Cto form compound B. The alloy of A
is used in making aircraft parts. Identify A and B.

27, i) £pssanBsrer sred umEsi palardanssh proRssseT  HHns
3 Sraugdiamy o) Hrap i glammon
ii) 1.0 x 107 QuraoriGsplaysiver HNO3 senrssfiar pH ufliaus sswsdms
i) Give an example for cach kind of solution given.
a) gas in liquid b) solid in liquid.
if) Calculate the pH valueof 1.0 x 10 molar solution of HNO;,
B 1) ot pQrd> feir Adiems uppiid @andQrd feir Addewasou Capiu@igs.
i) HIV ureudenigu usGam anflsmand & pis.

i) Distinguish between soniatic gene therapy and germ [ine gene "’e“"o: e
ii) ‘What are the various routes by which transmission of human immuno-deficiency virus

takes place ?
B, wpemarudeir ueamer utguel@s:
List out the functions of brain.

i) Sy eni srsiaurm saurfadpsl ? _.

30, ; )
R ﬁm,ﬂ-mnﬂd: v @D prLGunfng?

i) ot GariiQussd T ST
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1) How does leech respire?
ii) Why is vegetative propagation practiced for growing some types of plants?

3. v aILTEd Freurtissts srausurg pmn_@umleﬂmél?

How does fossilization occur in plants?

32, 1) daraumnd  sposefdphs  saflvauflos S L uenmTllel . oy Thgs
Qsrpdomus Coipame aaeb HFEsTEHMLE Ceihs aGnemin y‘fma
Henwhssier GuwismsTs 5ms.

o1 @bss Careds seflumssisr sjabse NsD ADOUTET swal
Sjenwiemus Glsream_amsu.
2. @iph Coreds safviss Qupburgid Gagl almarsslly =Gugay
Esvemsv.
i) m&Qpear sl mpSer aflensrfinst g, oer?

i) From the following clues identify the group number in the periodic table and write the
names of any two elements of that group.

a. The atoms of this group have very stable electronic configuration
b. These elements are mostly unreactive

il) 'Why ethene is more reactive than ethane?

ugd TV
. PART IV
@iiiy: ) Siemds cilswndsand@io eflenL wefldsayib.
i) gElaTh aflemnelihEto erap Lol G st seir
i) Gaevaunums G hiseamed UL Lb aienya.
Note *

i) Amnswer all the questions
i) Each question carries seven marks,
iii) Draw the diagram wherever necessary.

37

33A.0) AB aréip  Ourmer Gel@werddr  aumersy muwwun C G u bt

SrqusTenaTg asEAIULHdras.sdi aishrul_sems (pgausIoTS suenT®

c

i) suGLU®DUID o drer wremeut PGTTD

: g
) mn’ﬁ&sv‘*ﬂp

UbpEES e

T AT SGLUNDEIG i wgsgbmemar GpaloTE "
A @mwaﬁwmw. ﬂm@.‘sg ﬂ,ﬂﬁuﬁ@sirm
sREFLYd wepulmens 5B
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i
Désmpuriyer Quuit &7 i

338.

A,

. n5 .
jii) 92 U sTaiTm ;
yAars L@m‘::;.i: &;E:’”"‘é_' P Spdur aﬂmgaﬂﬁ.g 2 Lu@Ens stafle
HeTTHSE 5. Lagallar Dur rrsrasfer  sremrenllsm s
i) An Object AB is placed at the

. centre
picture. Complete the ray diagram of curvature C of the convex lens as shown in the

¢

ii) A Student in a class room can read
the black board distinctly Write

fext book but he/ she can't able to see the letters on
Suggest a remedy.

the name of his'her eye defect and what is the cause?

s .
fii) 2 U ™ experiences one o decay. Find the number of neutrons in

the final
nucleus that is formed. ¢ final daughter

(o) (spsvg)
) WerBarmiLib eTeirmmdd ersiran?
i) s @arTiL Gl sems .
i) W Garr oo epmsalulsapai sral_yius? sysmear 9
isira e eTsusury) Gemewds Gusin@i?
iv) LED afln&dlsir paraniomar aG5gIb @7eimngeens s pis
1) . What is meant by electric current?
ii) Define the unit of electric curreat.

iii) Which instrument is used to measure the electric curremt? How should it be connected in
a circuit?

iv) List any two merits of LED bulb_ A

) Assrp o Garassder it grer iy 2,8,18.1 sg0. o Guran A gyars
sri) wppis erOUsHEPE -LLBsED GursB adp uinellp Grhubos

; o Gorsd A ST HzS0s oL st allvaryfipg Geiwdss C

Ouraodps: aryPmes Coiod syse. A B, C
whmss D g L@mrg@ﬂgy._n S
ehHnD aaﬂmmgﬁmm&m“w'

i iy

i) gir gasanrdar YRsmD i
B erein 2. @ gPLUEATOI

pOUTL DL SIS

1@ CiHunO. sfd -OH Gprgguier

r9|) M@jml—-ﬂ e,'wt.ﬂ!:lq-ml'

ﬂwn‘l’lﬂ@ﬁ&'
AP st IUPAC Quw GFFlolT STAT STILEIE.
%) 9i#Griopd 3 G557 giowg FDHIDS
B) 5éGsiwp™P
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i)

ii)

34B. i)

35A.

ii)

1)

ii

—

. 4

The electronic configuration of metal A is 2.8,18.1. Metal A when exposed i air
d B. A reacts with con, H;S0,

moisture forms a green coloured compoun to f,
compounds C and D along with water. D isa gascous compound. ldentify A;B ¢ and

The molecular formula of an alcohol is CyHigO. The locant number of its ~OH grg,,, iy
From these details

(a) Draw its structural formula.
(b) Write its TUPAC name.
(c) Write whether it is a saturated compound or an unsaturated compound?
(or) (spsoevsi)
SMPFLHST 2 (HEUTHR GlgmLiurear EpbsTamld FMDOD  rmiyse) o

"Qﬁgamgﬁumﬁrﬁﬁ PHSHENT Qu”@mm}

and
H

STREH ST HLT  allors5s.

SMIESSTDET
Seiraupid Gaudlallenaraener ,gmissar @iyl SOUBIST Djig Iuen g,
amstuBSSE 2 wg aleaamw Huruiubsss.

2 KCl10, —» 2KCI+30,

Zn + CuS0;4 — 7n804+Cu

2Mg + O, —  2Mg0

Na,S04 + BaCl, ——  BaS04+2NaCl

Analyse the following statement about the formation of solutions and exp]ain with an
example. “Like solvents dissolveLike solutes”

Classify the following chemical reactions basecl on rearrangement of atoms and justify
your answer.

2 KCIOs . 2KCl+30, 1
Zn + CuSO4 ——»  ZnS04+Cu

Mg+ 0, » 2MgO .,

Na,;S04 + BaCl, — 5 BaSO4+2NaCl

FOUTF FEY - QUEHT WD) &5,
G L_13. EMTEY STEHTMTE) 6TsbT60r7?
aflooii@saie) saiifar of Pl dsir aﬂmmﬂ*ﬁm Wraai?

Define respiratory quotient.
What is cohesion?

What are the effects of hybrid vigour in animals?

(OR) (syivevg;)

14%

ii)

i1)

3R WD STHD T rgiygy?

2) 3;;2 @;;:;u:?sb B pefleh i.creir.or.alsir @ rain® G)enypsemeriyid

) BICBOUTES oo GuGe o drer @ries s@mert UMssL,
PDESEDSen 57 'rga;@w G’ﬁ”’sﬁ

@) PwseNCuren Gaemer Crirdgib Gmrd)

) 1q.6TeT.6T.aflsir SMPswar  perplensrési uwsiTu@BD  GOmHrd

e) @:ra_u}uurrgw Semsuullgir o) U185 %15 (5T LD sreoTm @)L SFle0

FHd5G 0 Gurg Brigiurgs GyaumL_£ps.
What is 3R approach?

a. In DNA replication, the enzyme that separates the two strands of DNA is
b. Enzyme that removes the twists formed during the unwinding process of DNA is

c. Nucleotides are added with the help of an enzyme called
d. The DNA fragments are joined together by the enzyme
e. The replication stops when the replication fork of the two sides meet at the site called
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wndl efemésner 20425 Model Question Paper 202225

ugsmd eugly - X STD
S rlaflwsy - Science
(B4 wHDD @yriudlenid eud - Tamil and English and version)
&Teuii senay : 15 Bif b+ 3 toeed) OB ieinr 553, 7
Time allowed : 15 mins + 3 hrs Maximum Marig 75
Sfloeor: 1. seedy densaend sfluns HEL uﬁﬂﬁm@ 2densy o
sflnidsd  Gerarorys, sl UID  GODA@S ﬁm
savaTanfiiTen i 2.L ey unad G feldean
2. fpevib ebaugy Sty enLoufieat STLpHIABDESD < SCETY BB Gy,
LS (B e, Gaustm(BibLiL rivseir suanyausHEL QUsIAID LSt BSsay,
Instructions : 1. Check the question paper for faimess of printing. If there is any lack Of faimey,
inform the Hall supervisor.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams,
GO : Balelilean 16 pchiE (Ifayseens Qanein. g
Note : This question paper contains four parts
ug [/ PARTI

@oliy: () Ssmerdg eflenmhsenss aioL wefléaay.
(@) Baaud  Cunpdsiorer  oflocifom  CpiEesGes S8 GGy
alflan:_uSeneruyth eTepgsE
Note: (i) Answer all the questions 12x 1=12
(ii) Choose the most suitable answer and write the code with the corresponding enswer.

1l

1. aflyf srhussweyd Amer Gepurl sn_é #1 Gsiw _Easug
=) gall Qsire: =) @i Qeodrs  §) gal g ) B @eafllw Qsvsing

The eye defect ‘presbyopia’ can be corrected by

a) convex lens b) concave lens

€) convex mirror d) Bi focal lens
2.5Q, 30 whpir 20 ST BBy ssr Gl ramm_apsing) lﬁldrgml—i-”"*‘ﬁ‘w

Clsm_flensmridled @epamdsiiu Rerar Gurgy Sjoupnflsit Q@ LIweiT Tal T

=) 1.03Q o)100 @) 0.970 %250
Th= cfA&cﬁve . SRS of resistances 50, 30 and 2Q are connected !
SETIES i8.0uerrrnee
aJ 1030 b) 100 c}O.Q‘,’n d)ZS.Q
150

3 LT Aemzpalldr Gurg,

2) PUCT TSN sroimonls on iy

) S T voremflsy iy Gopugis
@) OIS o0
) Pugt-rreirsefsr STEENAdim s ity 2
in Beta decay

a) number of neutron decreases by one
¢) number of proton increases by g

4. seradsalldt saToerey susy g,

PHD Gy

PHTDI GeDDd
ST e 5510

b) atomic number decreases by one
d) number of neutron increases by one

Uulensy oy HxsEnCurs B manEHsTe

SupeTiD

AT APy
) Slreu ; o auliuaifle @) Frasdimefieirg i aadeneray
@) senrEalar ﬂ-ﬂﬂfﬁlﬁ!&mﬂ'ﬁd’ ) aenrallsirQafaysempsd)

Volume pcmcnmge of S?Imious decreases with the increase in temperature due to
g thesns! expensicaof fey it b) couling effect of liquids
¢) increase in concentration gfsolution d) decrease in concentration of solution

o

5. lsraugpid B a-srerauhenn Fflursc Qunmhs sdlwrsr aflenL_sowg
Ggirb A5 Hsab.
A | ud @eraueerusGaiwin I | Querder [
B BemmaynrGeiinih I | QurirfunbsivgwGr _]
C. | Beriy . I | Hugrrsie |
D | sriGursisverwéGainn IV | =beir i

a) A-T, B-11, C-IIL, D-IV b) A-MIL, B-IV, C-11, D-1
c) A-II, B-[, C-IV, D- 1 d) A-IV, B-II, C-IIL D- 1
Choose the correct option that shows a perfect match in the following table.

A | Heterocyclic compound 1 | Benzene

B | Unsaturated compound Il | Potassium stearate
C | Soap ! 1l | Furan

D | Carbocyclic compound IV_| Ethens

b) A-11l, B-V, C-II, D-I

A1 B- n
HALENCIND d) A-IV, B-IL, C-IIL, D-1

©) A-II, B-I, C-IV, D- 111
- prstfgdallamearuild

@) aydmeir uryy Qausal GUGEPS!

) o rggeir auryy GeustlafiLuGAPS!

8) sdmeirary uwsEHBILUGSDS

) smpirgpeir sumyy umdfu@ﬁﬁﬂu@‘?w :

o

In a combustion reaction, b) u.tuugﬂ; gasis mw
a) Oxygen gas is released ) nitrogen 38 is utilised
¢) oxygen gas is utilised o
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7. UL SHgustar sy EEBamars QT sLpg HFEEMTE SO,
) A= snaaoth, B - yGarmisin

=) A - ySarrund, B - spsain
w) A&DB- s @i 1 Bsrruwin

@) A&B- @rew@u mewn

7. Identify the conducting tissues by using the arrow marks
a) A is phloem, B is xylem b) A is xylem, B is phloem
c) Both A and B are xylem d) Both A and B are phloem

G G

8. Lpsasem_ahmer smamud srodlsers sEsOUag a5 7
) AC gy LA Erou)

&) Desfwsd srind
) Sy fared &rodl

@) @smh@E srod

Which is the following is referred as “Master Gland". ;
d) Adrenal gland

a) Pineal gland b) Pituitary pland ¢ Thyroid gland
9. e i smaligysiar o L smuenll Glearrd o Farssiu@Ang
&) @rem_mibElenas smbsts ) YPBLBMVS D
B) eCamfui ) Cauraen ]
The formation of nucleolus in the nucleus is by
a) secondary constriction b) primary constriction
c) telomere d) locus
10. DNA ena Bl t o1 uwsrui@ars .
) &&BMECEmed 5. QravfNaser st G rElyydeafiGust
3) 555 =) RNA Qprlasit i
We can cut the DNA with the help of
a. Scissors s
e : :;Tmtmn endonucleases
. ase
N s welleurer alpéswrer ais F- i
e P 555 F ularsy LODID i) Cuirsms 2yHPR apa
) Brappd o) @lu sypnd 8 srpprppe @ . b
A cheap, conventional, commercial and nexhaustible ) Gleuliu gy mD
h source of energy is .
a) hydropower b) solar energy c)wind .
o energy d) thermal energy

.

2 Kg;é‘ass‘vrl-m.‘imrs‘n T Eﬂﬂ'wlréssmﬁé Aot uudruGang?

) inkscape Wscriptedior gy giace b
which of the following is yseq to edit programs?
g) inkscape b) script editor ¢) stage WP
U 11
PART I

i) (ﬁﬁé‘wﬁm:;&;@ﬁmmﬁ Cauad 5
Note: 1) AnSwerany seven questions: (Q. No.22 is compulsary)
13. QsTEESOUCLE ﬁ"nﬂ“’m‘l& srremidlemenyh perpre syrTigg Flwrar
afenullemear Cpiay Qais,
e} P AL wihpie Ao Qurmerssmar afl arys Qurgg’ ssr =
AYé5580he o L LG,
ABDib B g Yo D15 5% G)eme Guin_siram Gmrenaay
PUILE 5655 asnamuie SHHsin.
o)) SDY WHDIE STTEID YA @ren@in sl Cusy srred S DOISES
sflwrsr allsrésin
&) Do wHOID STy gdw BremEin 4. SEITE SrTEEND S DDIEE
Fflwrer allerdswsia,

7x2=14

SreRTiD

B) Do sflwrengy. e srremd sauy).
#) SnDII WwHDID STYED Halu G ramEio Hauml
Understand the assertion statement and the reason given and choose the correct choice.

Assertion : Gas is highly compressible than solid and liquid
Reason * : Inter atomic or intermolecular distance in the gas is comparably-high.

a) Both the assertion and the reason are true and the reason is the correct explanation of the

assertion.
b) Both the assertion and the reason are true but the reason is not the correct explanation of

the assertion.
¢) Assertion is true but the reason is false
d) Both the assertion and the reason are false .
L]

4. Gar@asouc Gerar Werapmle AC
YenarsepsdlamL G o drsT CFTHULST s

50
SEDLeDILS ST,

Calculate the effective resistance of the given circuit across / '
terminals AC : x ""V‘;R : 3
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15, Briolu ursSrsmani sredurs o_srer LTSHTHHD @OUTIIS By, Sforg,
e_meaurslng syeir?
Why does an empty vessel produce more sound than a filled one?

16. Qar@éstul s soppfevarnyin, srrasHmearyd BETDIS TTiigy &ﬂ‘”rq
aflsnuflsnar CGairey Gladis.
sappy (A) 2 HF qpasdis e o_sivar Gaugitifenariin] ST SBETMN0 qui gy 5
&ITIERTLD (R) :H a&min F &@b @mL,Gu.l o _6aT STeUBL TS ST Seirsnip
wgliysensdam Guurear Gaupur® 1.9
1) (A) ehoub(R) sflurers. (R) gersi(A) @ alorégsing
i) (A) &, (R)say
iii) (A) saum, (R)sA
) (A) wpmi(R) &1, gyerrsd(R)gsmsi(A) gallordsaldme
Analyse the givenassertion and reason, Choose the correct cho‘ic_e.
Assertion (A) : The nature of chemical bonding in HF molecule is ionic in nature,
Reason (R) : The difference in electronegativity values between H and F is 1.9.
i) AandR are correct, R explains A,
ii) A is correct; R is wrong.
iii) A is wrong, R is correct.
iv) Aand R are correct, R doesn’t explain A.

7. gL phoyulifulsr o1 Balmpa sy Grissms e flehadng ?
How does leech suck blood from the host?

18. deir apenemuller urshismers s ms.

18. Name the parts of the hind brain,

19. Qaresivi i (Fbured) sTaTnTeD ersiren? Lired 2 pugfurensy M"'m}”"ﬁ““:’m
eI uEEUESSILGADE? =
What is colostrum? How is milk production hormonally regulated 7

20. swilimyr @er sraraflwed STRTLIGeD ST VMTUDISS  SyFeir  (1pdslLGHIMEME

TP,
Define Ethnobotany and write its importance,
21 wlarraflus) wmsssr STRTDTSY sTbrew?
What are psychotropic drugs 2
22. ;mi'wﬁ;;] A :rrsi_mgﬁmwign,uumqm@mLm,gc;@mgmgmmm‘éﬂwp_ﬂmﬁ@ﬂ"
w3 lalulu@ss o gy 5@,{,0 2 (urswr .

y : i ; um . QaniL 5 5 (0BUTE
cswafalh A @g),l!;‘ﬁ B peodisa pymaflsr STaiTanfg e ii ol ?;Uu@%@ el
LpeLE s s afleir ““'Wﬂﬂé;mmgg Fotre ! Faillflusreley 26T,

1) Grrwn A sow DAMLAITD &g -
i) @bs Gméuﬂu@§@|h allensrg s :
o i
o Cougs armci'rmr._‘_m,__’s (55,
154

ComP"““d Adsa co!ourlcss, crystalline,
an anhydrous salt. The numpey o water
water molecules present in greey vitrio]
0 [dentify compound A

if) Give the Chemical equation g, this heating reaction,

hydrated salt of magnesium. On heating it becomes

Molecules lost by compound A is equal to number of
on heating.

uimg 111
: ] PART 111
oy D o050 ?sﬂmﬂ%aﬂm wal$gayrn.
i) (eflewr sreiy 32468 8 Lounpng Ulevarlimain)
Kot : " :'nswer any seven questions: (Q. No.32 is compulsory) Tx4=28
6. () LpssnL s B Duemn sfyr? 0, nr? i
= Qo Taggys. AV gaupr? erer Syflbs1 saunp
&rﬁwaﬁﬁiﬂﬂ"ﬂ‘h“%

IO S5 546 o_drar surusilsr Bautiuglena oyser
ute dmallnE gt ssals SDoupts.
(ii) Coryli @) dsamer Briys,
@) Geuliuib whmis Bsutiuflenm TEUSL........... ysTOYSST
=) G}urr@@urn'&iﬂﬂc?r Ybs piseller syrafl Quiss ADDD oo B LD,
(i) State whether the following statement is true or false justify your answer.,

According to Charles’ law, at constant pressure, the temperature of the gas is inversely
proportional to its volume.

(ii) Fill in the blanks.

a) The temperature and heat are ......._.. quantities
b) ............ is the average kinetic energy of the molecules of a substance
M, G'lurrﬁg Ak
) Byl i : i)
=) e Gur® ii)
@) srdeusrmfe i . i)
%) it sen_wrsd )
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15. @rbdlw urgglrgensall Srsilwrs e_aTsT U“‘.é-élré’gm gsﬂwrrﬂigj Al ‘5‘“?“!
o_maurdmg s
Why does an empty vessel produce more sound f : :
16. Qar@bsiucs spPmenyh, srrempgmends pEDTE BITUBSI ey,
ailen_uflenenr Bsiey Glaiis. .
LN T (A) : HF @wahgﬂw o_gTem Qolﬂﬂl-ﬂmwoq auaﬂgﬁwmm mm“."l-i’ﬁﬁ_

onc Gu o_sireT STeBLITSHT HeUTSETenL

\an a filled one?

srpeerio (R) : H &5 F a5
wAlysepsdent Guurer Gaumiur® 18
B (A) wpmie(R) shwrarg. (R) ssensi(A)
i) (A) &f, (R)ssum
i) (A) seumy, (R)ef :
) (A) wpmiin(R) &7, yerrsRIaiensi(A) gatearbsaldme
Analyse the givenassertion and reason. Choose the correct nhltitf- o
Assertion (A) : The nature of chemical bonding in H¥ molecule is ionic in nature.
Reason (R) : The difference in electronegativity values between Hand Fis 1.9,
i) A and R are comreet, R explains A.
i) A is correct; R is wrong.
iii) A is wrong, R is correct.
iv) A and R are correct, R dossn’t explain A.
7. oo guoyuilfuler 2 L fblmbs! ersumirgl @rsssms e plessdng ?
How does leech suck blood from the host?
1B. N apenerullss i
18. Name the parts of the hind brain.

m alandeH Dol

um AT

19. Qarsvsil_yib (FipuTd) stéTmTe sTeten? UTrd e_Huslurens mn’ri’Glmrrqujﬂr@‘
sraiaTD QUMBUOGEILGADE? a
What is colostrum? How is milk production hormonally regulated 7 ¢

20. ey Gew sreuralwd SRTUSDET aTUNSS ST &psadlwﬁyﬂiﬁ"’
TSI
Define Fthnobotany and write its importance, ¢

21 wlarrallwed WHbHIST TaTDr srsira? el
What are psychotropic drugs ?

22. G A_‘rélmaﬂpl?’i’m""l’f‘“"?‘"@‘”*—“.ﬁ&ﬂmmugﬂfﬂu’;ﬂ ; aqistﬁﬁ"
@‘?‘6 .@muul{u@ﬁgm Curg Srim e OurswrpAps). Qutiuou® w‘jauw’
Goiwi A s BT ¢pebmpiseisr aamomfisms Ry e o girsr BT

P i i i areimrendldion 54 Fiwreng

i) Gairo A snw et wrer(p SIS

ii) @bs QOLILGHSIb SDenerr g oy Couglé gingirysm
g pms.

154
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compound A is a colourless, crystlline, hydrated salt of magnesium. On heating it becomes

= anhydm“slsa"' The number of water molecules lost by compound A is equal to number of
water molecules present in green vitriol on heating.

)] 1dentify compaund A,

ii) Give the Chemical equation for this heating reaction,

ugm 111
PART IN

oL ) erCemin 7 aflenndagnie alfenwel sy,
if) (eflem eretr 3245 &1

15 Lblevefld

)

Note : Answer any seven questions: (Q. No.32 is compulsory) 7x 4=28

23 () SpEsaTL SphIisT Seirwamu sAwr? DG saunT? erar HPBS SusnD
Fifl Qriigl sTaggIs.
sriesvalguilsry, wrpr HS5HE 2_srar surwyallsr Qaudiuflaa syseT
ughle yerallig agli sEalld sy,
(i) GsmglL @)t tisener Flrinys.
&) Sl wHMID CIUUEDE TATUG]eursenrnr DTS EST
=) f‘?u_n'r@561611rnﬂ"nr;nﬂsiﬂr psuds o mseleir srneill @ubs DDl e

o DRELD.

(i) State whether the following statement is true or false justify your answer.

According to Charles’ law, at p the temp of the gas is inversely

proportional to its volume.
(ii) Fillin the blanks.

a) The temperature and heat are ........... quantities

b) ............ is the average kinetic energy of the molecules of a substance

4 Qurm s
&) Sy r

s bt ]
TR 7

t

o) s Guirg

) iflsit enLwrés
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Y S0 w6t
A hils. a) @NTE0E 'U"kﬂﬂﬂlj,ﬂ . .
Match the following componenits and symbs 2 what is the importance of valvey :‘I[:-,:h:;:';
T ey :
L__-’\/\/'\‘,__ . i [ e e T S SHAD sy dmit anTiGwreTasT wrepa? Sjena
5 o1 g sl e Bitsls Qg
i oy Beum B inmsiy D e
c/Gilmnometer I. What are the hormone, e ony
{ e . i tissucs on which ‘h:yﬁ:_lkti:iff;ﬁtﬁcr lobe of the pituitary gland? Mention the
esisior ect. .
2 % | .« What are allosomes?
25.0)  Al(SOusGsiumpdire sran ‘$éﬂsaﬁdrfwﬁ®mwu«£&ml&c{l®a, iy @@gﬁgﬂ)l&i&aﬂi
- 0 B o
U -32) 30. . .
(Fenmerabrwsymer: A-2T, 0-16, 8 . 2 _— = o s O e e
: b ppevdsn Bl STILILT g i) ST T i
i) Bmayh erfus £C.@raflsir IUPAC Guwen Ty Sy j Name the types of stem celis, e
) gﬁ; s of oxygen in AL(SOs compound. i) wi::g] ;hc agel?ts of soil €Tosion?
' A e pe 2 i THS LD Loy
(Mass number values are : Al-27, 0-16, 5 -32) y : st D = ¢ 9 ubguis Diaridrs Glrss o Lsdlmer Gaumiu@bsis.
i : - lest ketone and give 1S molecular formulg, i) BlemmEsT o AGiGurg BT s el yoo i o A
ii)  Write the IUPAC name of the simpie : ; . @ safllutissr @Gpssiu@arflamea.
A - T 60U B ST AT ETTEWLD Fo. 1)) 5.
26.0) 15 efergpennellsinisneoraaii 3.5 ATHE e entiate I
e s A - i) Dl_ renti € Syslematic mmmmmpum rcul
et semreslss jomsyF 5 el 55D o i) Minerals in the plants are not ogt during the mﬁn“a’; ? ation
o LI - .
i) ParesgpeGagal G , g ) oo BTG ERUR iy = (geur, b " e
SHE00HM CHsCOONHs(aq) + HzO0 o i ' i SIEETET 4T susHTULLD SushTS.
1) NH:OHgag + CHs 0= = R i .
) Z0COxy  Qautss ZnOgs) + COzg) e syerefiman sreis uidlst  Hensyssitewin  wHmID
. ] . us solution of ethanol, Calg
i) 3.5 litres of ethanol is present in 15 litres of aqueo . ulatlu iy ~ Draw the 1ay diagram of image formation i < .
volume percent of ethanol. ) ; i) Find the position and write is mmm?'le ope
i) Identify and write the type of following chemical reactions.. microssope 15 mature and size of the image formed by Simple
3) NH,OHsy) + CH;COOHq — CH:COONHywp + H200) :
b) ZNCOxs _@aowns,  ZnOty + CO2g) ' g IV
s . : PAR’
27. 1) enanlrgmelar sl rrsT il seirenwouflsiT Wiy 2.1 wpmib Cormywsd oL 1) Seensgy afenn i ‘ﬂ—;wm
i i & ( : SEGHHELD sl wiolaay
st yrsin seut eirmwdldr ugliy 1. @ADLIRST HESNDI-T Geoanyi i) el@auni efesadigtn g i Austy £
Gurgid, enaplrmer Brrig s s T BEenemTuyio Gurgilh o mamsg i) Gseney e ;
) . ':: aflsit 3:‘ _“’ a;f'm_,ufia; (e Flavflsir sra)«!'&l'_u'n“d:'g @“ "fl] H =
i # ] - n - Siu Note : i) Answer all the questions + 3% 7=21
i sareruidsr wgliy 4). ) i ii) Each question carries seven marks, .
i) !UPAC‘ aﬁﬁseﬂ.&‘dr uy  Spssramd  CriuGsEpssTar gy . ii#) Draw the diagram wherever necessary.
UTWOUTBEMmeTsS Qaramis. BA D) Qerged Cumpgisaisn gfiaygidsd vwsTURSEOURHADS). TerT
=) Qusite_swrufls gyflsob ) 2-Cus A1yt 1_eir-2-9460 " : AN Y ; oo ; ;
i) Electronegativity value of hydrogen is 2.1 and that of drl'wlm' 1 F'? the nature of S P e oeesHier Bmiax fivegiae bbpety it oy e
- of so 15 1. Find out the i %
i i , . : Al lsners § ( Mealar ‘g wdiy 1.625F a2
:.f?:afi]:ispm@t:u:o; the ch:npound, w!ie_n hydrogen combines with fluorine and hydroget 2 o mankd@a (1 9" ufiy . )
5 — m”:fi ffcu‘tl:h:leganVJty value of fluorine is 4), iil) upensy upspele o srer Guis ol fullemers spis. qfus:ﬂﬁlé;@ Gumib g
Y » denive the structural formula of the following compounds. - TOEsIEET 5 R S AU
a) Pentanoic acid b 551EETHS 515
) 2-methly-butan-2-o] i s +y busés: why? -
1) -Shock abserbers are used in luxury buses: why'
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ii) A weight of a man is 686 N on the sura'facc of the c_:zlﬂh. Calculate the weight op the San,
person onmoon, (" g’ value of a moon is 1.625 ms™ )

iii) Name the law of motion used in flying of birds, Give another example for the same
(or) (sysvevssi)
33B. i) 500 Hz S Qeusirenen o_emi_wi el mpsuwersgy, 30 Bal ! GaussHay Dlajy,
e_siror Gal @menr Gpréal BETHEDE. arpfd peflullsrGausn 330 Wap. Torlg,
BECLBBITR e emrriu@in pelluflsity i Qlouair sreivem? ¥
11) sgfwbss e uBSHIa uusturB s gCsmIb Bratdlame sripss
i) A source producing a sound of frequency 500 Hz, is moving towards a static listener

with a velocity of 30 m 57!, The speed of the sound is 330 ms . What will be the
freg 'y heard by listener?

Write any four medical applications of radioactivity.

34A. i)

—

STOAWD STILGHT 1960 o srer per@aimy saflsHear BoDs5els ey

srans. (Reopersm: C-12, 0-16, Ca -40) )

i) wrie o flgssid  Gerwdiser, Frive plgrfssenryh Gfri—mr&uemﬁsﬂ@g@
seuaur DI Goumiu G alsirmen? apsiTny GaupiurBamen sTips)s.

1) Calculate the mass percentage of each clement present in calcium carbonate molecule,
(Mass number: C-12, 0-16, Ca -40) |

i) In what way hygroscopic substances differ from deliquescent substances?Write three -
differentiating points. ; !
(or) (=yévas)
aiflos Gstwimeaflar IUPAC Quuwh@i Gpullst oq liuspL il £pss
B Lsusnemrullel o sirer Gamigr L @)L fusenar Bleomey G, L

34B. i) TEEpr

GriwsarQuwi Semiolyairiiur sl smé Qe us s s
CH;-CH-CH,3
= | -OH
OH
CH;-C-H
rhGened " i
(0]
i bmtngd g0 weied]
g1 Germeir ——m— >C=0 .
e e
————— CH3-CH;-CH,-COOH -COOH

L@W”‘i&@*ﬂ.’ﬂ@- c ﬂﬂmrmﬁﬁﬁ, o
pwsruBEng. B whHmeC Démsiy
b0 L BUTEDIssrey g0, Gy

L.

TERIEST  WwHDh e pAlEer Huwrfode
BBg1 srupse. SThEES STy
WU L Gaygls FILETUT o BITT S

j Fill the blanks in the table using IUPAC nomenclature of organic i

fi) A is the second most abundant metal available next tg

its magnetic oxide B,

Name of the
____ﬂmﬂ_ Structural formula Functional group present
. CH;~CH - CH;
| -OH
? OH
P———— . OH e
Ethanal CHs-C-H e
n )
. 0
it
B S >C=0
e -COOH
CH;-CH,-CH,-COOH

an alloy C with carbon and nickel. C is used to make

and write names of B and C. Write the balancedche

aluminium on the earth. A forms

when steam is passed over metal A in red hot condition. A forms

aircraft parts and propeller. Identify
mical equation for the formation of

magnetic oxide.
m' 1) Glurr@jj@,s,
oy ser lbgisiTar Fsiq) Sjsowall b
CPEner. LT aulbpsomn
Foifran Gl g wrsivigamh
Blawin (peneT 2_EnDEST wriusnn
Bienrufirsd Quiflsriygwn msl'wml;_gun_@s

i

—

Quuwissnar ST(EHIS-

P . o
STrluey griguid sTeusuTHl 2 gardps? g STéED apriGurssad

7
) o imafs L L wprAupgubms TYSE
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i} Match the following,

Organs Membranous Covering Location

Brain pleura abdominal cavity

Kidney capsule mediastinum

Heart meninges enclosed in thoracic cavity
Lungs pericardium cranial cavity

i) How is Corpus luteum formed? Name the hormones secreted by corpus luteum,
iii) Write the importance of fertilization in plants.

(OR) (=ysvevgi)

35B. 1) ymewr CariL s46 allmemwiryd Qsreawmymbsrar . SheGlyer PO Oyl

Bg 90 ikl uitHmiumst UTiEST. ST Amévsenar 2oy,

Crrédlarren. srémsulst @nsmsun giofluflsit @nasmasyd @Grurda B_6Tamg s
Blenarssmeir. eusir Beoedsgl sflwr? o tiser el ssrer Siramisamens s,

i) 2 WiLQurgsTaw Amsumiager qyab FwEs si LHDID QUL Byl
Qurpd ser  &en_sdlsTper. PErudgie  pri  eupenm UTgIsTiLg
S| uAUNDTE DG). e76r?

1) Arun was playing in the garden. Suddenly he saw a dragon fly sitting on a plant, He
observed the wings of it. He thought it looked similar to the wing of a crow, Is he
correct? Give reason for your answer.

ii) Although coal and petroleum are produced by degradation of biomass, yet we need to
conserve them. Why?

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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wr il el ggmer 202429 | M odel Question Paper 2119426 (3)

USED eugly - X STD
o IABafNwev - Science
(SO0 oHDID ke Sl - Tamil and En
el 15 fhBltb + 3 (oensf)
:“jmﬂ allowed : 15 mins + 3 hrs
W it ' ewrsaenn & fums ASH  Ubound)
Fiflungdgys Glasrmirmm;th AHEF ubals
ST TEWIIITETHL_ 2L WS Oz faflssayn
2. Beutb @;be-ugu SHBUILY @rLouana SIUSINSDSID 219 4Cam Gassieid w53
LwettLi(h &5 Covadw(Bion iz UDTUSNEHL1 GLrsir el Litair AR dgayb.

lnstructions : 1. Check the question paper for fairg,
inform the Hall supervisor.

glish and version)

B NG st seir 75
Maximum Marks :75

ess of printing. If there is any lack of fairness,

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams,
ey : @eiallenrdsner pcrg feysmens OlaTaton gy
Note : This question paper contains four parts
u@# 1/ PART I

By (i) emewdg) et i@ el wellbaayh.

(i) Bzajo  Oun@ssuwnar doLom GujitsGls s SIS (et

aflenr ufleneu b eTepsis

Note: (i) Answer all the questions 12;5 I=12

(ii) Choose the most suitable answer and write the code with the corresponding answer.

1. Wsir gety  @alQwsTs Gallwsglsy

Douds iUl Geireng). e allerse goly L OUGD Cury), galdasrsrarg

aflerée e e
) Galld @0 SHMDSMETL_(HAUTSGLD ) clfagt Sbmpﬁmm&(.gmﬁ@b
@1) @msmés &henp&Hmare (Gl L " Ep= &ﬁJ@:D*m”&@a;LZ@m witched on
A small bulb is placed at the principal focus of a convex lens. When the is s )
the lens will produce
%) a convergent beam of light
©) a parallel beam of light
 Weir @@L plsefien flaGrih SOIFTG
HusiTu@eflpg) sr@amefled
) e WsiTH L ST
) srofflev 9 sAgBampDL A
Nichrome is used as heating element 1 b) high melting point

2) high resistivity ¢) all the above
©) not easily oxidised 161

b) adivergent beam of light
d) acoloured beam of light

srrarg) QauliuGLppid FTSETLTSU

) P 2-GSPDD
w) Gl TSP

soLwWTEl .
S eater ,because It has ...

electric b
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7, At sppS pGumin @),
2) L& i 601145 LD

3. sTrs 54 wéss5s0 mbgl Bl UTHISTES

o_emmasTLweTU RS siTper.

‘%} mmLGLWEFﬁW[’_}ﬂMWE}ﬂs&T

9) &I &= =) @ mioy @) yDSCHTE Simar ) DL G575
Kreb's cycle takes place in

>-Lug# (s Grmor)
Cflwreleir LLL’IDE Emm

@) srfuid w) g flsflud loroplast
. g or .
ssuseneeeeee. APTONS are used to protect us from gamma radiation. 2)cb atfl b) mitochondrial matrix
a) Lead oxide b) Iron ¢) Lead d) Aluminium ¢ stort - o d) inner mitochondrial membrane
4, LT meusareu b mysiv 181 “sefiwb + gaflw -----— >Coron” allmarams Sjsve, R i ﬂ’rﬁﬁ&‘wm oL Gun ADD6 Cxana.
) Cis) + Oz(y— COxy ) 2K + Brag) — 2KBrgg o) QFws G SLGg1560 %) UTsusH
@]‘ _ZCO(E) + 02([;'; _" zc.()llgl ) 4Fe(5) 15 302(8) - 2‘Fe203{5) . ) @) EW@!}@ LIT6u6V F‘F) @mm &mmﬁgm
Which of the following is not a type of “element + element — compound” reaction? : he followi ;
Which of the following process requires energy,
a) C(s] + O:lg) — COg(g} b) 2K + Bl";(]) = ZK'IBI{S) a) active transport b) dff . y
¢) 2CO¢y) + Oz(g) — 2COyg d) 4Fe) + 302 — 2Fe;05 = ©)osmosis  d) all of them

. SENERTILILD . : ;
5. e ulflwAmgeusnujib L Qe seflsd 2 sraranay ——---mm- 9. & — ————— ®10dwrsé Qrwsu@epg.

TSI(LPSITST . Terulsl e S
) dlenenss sndleds QsTLir enan Grr sriusitser ) BTeTY )5 wr B) o wppi o #) ups@ib
o . ] L Pancreas acts as gland.
<) Bprren Fslslls0sTL reant GrramiusiTss . a) exocrine b) endocrine ¢) both aand b d) flying
@) Swards whmibd Cryrear sRsds Gsrimant Crr sriusTas 10, £1pdmem_aubmist @ausingd saofar M55 saim_is,
@ A
7) auenerss enami Gy sriusindr o)) 9:3:3:1 <) 9:1:3:1 @) 9:1:3:3 ) 1:2:1
Biodegradable detergents are made of ; ; o L
: Identify Dihybrid ratio
a) Branched chain hydrocarbons 2)9:3:3:1 B) 9:1:3:1 9:1:3:3 &) 121
b) linear Chain Hydrocarbons S Gt °)_ N o L
¢) Both branched and linear chain hydrocarbons . Epasaim_anpmer Lwruysv Quiseay Qs iurer Gamiun L ger k]
d) Cyclic hydrocarbons Cpit1h @\ (B\ds a5 1) .
6. Gamgwid oEm G sTVELrrenar Blybai Na*ywelenw 2_(Heurd@GAng. N ) Gpruflsir grsi 10%-20% &) Gareumaussli ClaTLtigang
Sqweflulleir o, Na gjemiallsroyrsoms all G™Deurs @) méiG 0. @50 E&HE STTED B)) mer ysrinL GODEE ) 2L 8D LBLoaT
<)) Na*gualullsd o_1smaller sauiid aflans Na gyemiallsper afl S|BHLD Select the odd one from the following about Diabel?s mellitus.
%) Na oygmialld 2 L sgalsr sauisd alms Na*gueflenw el o glsio 3) Prevalence 10% - 20% b} Juvenile cosct
@) Na syamiaflsv a_ﬁﬁquUWLLns&Ta;sﬂs&Tﬁmrﬁnﬂimﬁ Na*guafaw alLé c) Underweight d) Obese e s
GMPauTs 3)155 510 12, ‘f'.!iléﬁsahn_m_qbydr ooyl O ErEanTradsemaT m
7) Na*gjuaflulion sransravdsirreirsofsirsraimamisans Na Sjgpiena afl Swsr@urer ergi 2 Scratch
S Es10m8 B)HsE 0 ) Paint ) PDF @) Ms Word &) Scra
When a sodium atom loses an electron it forms Na* ion. The radj +:o0 s Jesser tha? R % imation?.
P . esser . \ ate animati
Na atom.This is because, e HRdiS of Na' foh is Which of the following software 15 used m:;BMS _— d) Scratch
a) The attractive force of nucleus is more in Na* jop, than Na atom 9 Paint b) PDF " .
b) The attractive force of nucleus is more in Na atom than Na* jon g 11/ PR .
. = m
¢) Number of protons present in Na af?m is less than Na* jop, O @b dEEHHS WLWMMM@
d) Number of electrons present in Na' jop is more h iy 'L Lo ug 7x2=14
an Na atom i) (efewn eretw 228& &= 92 is compulsory)

TS No.
10N8: {Q
oe:§) Answer any seven gpom
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13.

14.

15.

16.

17.

18.

19.

V

OsTRESIUC LS s pflensmuyd, STTETSSaTID BETDTES YITUHE Sflyre,

aflenr_uflenar Coiray Geiiis.

sppi: Fhsi0 9@t Fear svswirsd VerGprésl sEnADTT. Frreng g

puaT WpeaTCaTris) gstEnalnsg).

STIeTd | @auGleur(s allmsd gl swwrar argli aflws o_as (.

9)) &Py wODIE sTrey gdu Guew@n sfl. Gogid, srTrewd DDl

sflwreraflerssin
%) Fhm wHDIe srrewd gElw Graw@h efl. QYOTTL, STreRTd S b yig
sflwrerallsrssioads.

@) smpy shwrsng). syarred sTrapTd SO,

F) SnDmi wbmid SryewTid oy @ra @i seum.

Understand the assertion statement and the reason given and choose the correct choice,

Assertion : When a person swims he pushes the water using the hands backwards and the

water pushes the person in the forward direction

Reason : For every action there is an equal and opposite reaction.

a) Both the assertion and the reason are true and the reason is the correct explanation of the
assertion.

b) Both the assertion and the reason are true but the reason is not the correct explanation of
the assertion.

¢) Assertion is true but the reason is false.

d) Both the assertion and the reason are false.

rrGwallsr Fzpe aflflenws smps
State Rayleigh's law of scattering,
amrup . gy emFlmD

Define : Relative atomic mass.

8G sevsaler pH wgliy sfurs Bussre eyssmrsaisr seitewwrg)?
STTITDS (5%,

If the pH value of a solution is zero then what will be the nature of the solution? Give reaso
gaflsCeibens ersitnred) sreiran? B8 Qrededlst) errgy

) " & BPLCuD Hng?
What is photosynthesis and where does jt occurin acel] ?

SUDTHT S DDIGWNG 5555 19845
U st pr e wR ks iy 085Dt g 1y B g
GBI Lb.

164

2.

n.

2

3,

Un_g,g,;résasﬂu@ﬂsirpm. _
Correct the following statements ;
i sympathetic NEIvous system is a part of central nervous system.’
i) All the nerves in the body are coyereq and protected by meninges.
UpEGD S0 @Bbs Aal Lmensyufesr
&@gwn-tb.awu"m:h Fn M

Qnsmasmar Qupiuc L usTuTss

The degenerated wing of a kiwi can e considered as an acquired character. Give the reason,
QarQESILLS & pplearyi, stramsdemanyis penpra ayrrigsg furer
e ilemear Gsirey Qxiis.

& OO ©CrTCLrGsrd sreianfléenasus arEfflar gepadng,

sy | FGETSM @Gﬂ‘rr@wrn'_q.@mir T31Qrdli s sipeurisamar Cpras paiems
95! 2msGaflsdng:.

3)) &P FIF YETTED STTawrb Seumy.

&) STrenTD Fifl BLEOTTS) & DD Saumy

8) smpm LHIID sTrETD @ram@ib 5.

) @ DI LHOID STTERTD @)ram@in Saum).

Understand the assertion statement and the reason given and choose the correct choice.
Assertion: Colchicine reduces the chromosome number.

Reason: It promotes the movement of sister chromatids to the opposite poles.

a. Assertion is correct and reason is wrong

b. Reason is correct and the assertion is wrong

¢. Both assertion and reason is correct

d. Both assertion and reason is wrong. -

Sow WsirsenL_ujsirer g(n swlurars DBS FO l-l'ﬂ‘ﬁ;-'i'dfﬂl'm‘ @Qill'—l—';u@é]m@-
QL i gy b GemGEaTyiD ubs GesTids Qearieb Curg)
AupBisir Qg vwer s o ‘“’%- five equal parts, If the five parts of
A piece of wire having a resistance of 5 ohm cut into ?;nce of the combination?

the wire are connected in pacallel, then find the effective rest - -

wga 111

PART 1L
Soly: ) g@g@n_h?eﬂm'u&.@&@ eﬁ:mmam |
i) (aflewr ﬂﬂ'ﬂ'-?:ﬁ ;:::L:(Q‘ No.J32is compulso::)l_ G T
o .
i) @wﬁ@ég:s::;a:):@ﬂmu ol it UGSV GHULIETES .
STeiT? ' ) £ )

‘. Tx 4=28
NOte :
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i) @alQesrs wHp G elwsTHS CapuGHs!s-
i) Why the apples weigh more at poles than at equator?
ii) Differentiate convex lens and concave lens . ;
24 1) wrprs Galiufleaulld 96 Feuaflis e_sren surwjallsiv yrioy o .ﬁh
prae wLiig ofabgblurs) mmyalsr ugwdr 2000 (V1 oy o

V2 ¢t gysiormysins s, Bnd ugmwer VZ CC ensuds BIE L Gg.

ii) 5@ srramisGarr® Opre iyl UGS Caryl L BLBED Ky,
yall glrey <.
) Qugrsura Gusith s th st Qrmedlufleir LweTurg G&wm“’“@asrrﬁ, i
Bmifih s ;.. . i
i) Keeping the temperature as constant, if a gas in a container is compressed four timeg e

initial pressure. The volume of gas changing from 20ce (V1 cc) to V2 cc. Find the

) Geusrsursoser | fGwmsd

volume V2. .
ii) Use the analogy to fill the blank
1) Bats : Ultrasonic , Earth quake

ii) Whispering Gallery: Application of echo, Tracking a satellite : .....

25. 1) amer sffwsssdear aCsaib G usTSMET 65!

i) SLEUUESSID Siflssr sTaDTE sreTar? TESBIFSETL B 5155,
i) Write any two properties of gamma radiation.
ii) What are control rods? Give an example.
26 i) a|g;|Lﬂnﬂmn_cmmgam_gcl;mﬁ:uLrﬂmmiguu@;gmﬂ@wgmgn@
EHETETSTTENLS 5. '
i) Gmﬂhwﬂmmuﬂsﬁﬂ@gm@@m‘w@un%rq&mmer@gs.
1} Nm_ne the acid that renders aluminium passive, Give reason for this.
i) Write any two characteristics of chemica] equilibrium,

27. Qar@ésiu’y & S pflenamyid, SrrsGdlen
aflanullener Gpira) Qeiiss. .

55,

ATy FeiTnrs Syrmihs ﬂﬂ.l..l.l‘f“-

i s mhm A :gcmvﬂnﬁshgﬂqvwmm 35 5-dimuy
srysaihd R : & Carmfiafiar &eml_mq“r
sremiuBagdme
=) Avpmio R s, R 245151 A paens
=) Asfl, R Bougy
@) Agaum, Rsf |

Bupesuflda s eralled) &

&8ng

28

29.

30.

N,

32,

i)

Analyse the given assertion and reason. Choose the correct option,

Assertion: The Relative Molecular Mass of Chlorine is 35.5 a.mu.
Reason: The natural abund,

of isotopes of chlorine is not equal.

.a) A and Rare correct, R explains the A,

b) A is correct, R is wrong,

¢) Aiswrong, Ris correct.

d) A and R are correct, R doesn’t explains A.
Distinguish between soaps and detergents.

gpusslleir o-eRTe) LSTLWID Frauy o el suensurer sar LsHHe sTODTHCuirs
rEINITII SjSPIObEISTENS)?

How is the digestive system of rabbit suited for herbivorous mode of feeding?

9

ii)

1)
ii)

wrgallLmis  siphHAullsr

awwedsr o epm o sivar uphme epwwsllsir e sypuhHn by
priflmysemer GupiuBsss.

Tt x tt esrp srrenisoms Gsredmn. @m OupGprissise Gu S0y i
Qe aBums) syt F1 gmayenpuli o margd Sarrés aldlsh srerar?
Differentiate myelinated and non-myelinated nerve fibre.

If we cross two different parents with the genotype of Tt x tt, what would be the [
genotypic ratio in its Fy generation? !

wiGsumy  Fansussir

7 oybl st Gumsg

SerLsin wHmid smlmudls Bewd vrhpissas giod@s.

What are the different phases of menstrual cycle? Indicate the changes in the ovary and
uterus. '

i)
i)
i
ii)
D

ii)

DNA afl7sv Grensg Asmflaop uddler pevLopop uwsrur@asoer stag)s.

Y EGrrsvdlefiGrrdlav apuBausDHETT srraiissia) Garpyginiar uiig
STERTETT : 3 L
State the applications of DNA fingerprinting technique.

What is the role of fat in the cause of atherosclerosis 7

10 &l s&G@rrenew, filssmrss10% fopssafsnlsrsm sorsma
Bup Caemauiu@in Fher Hapemu dyrfld sorsd@s.

A s n sfsversuallenarsL g HETsTET S ir osirargi 7
o { ol

' Lm@aﬂml_mumwﬂ'-‘i_’ﬂ@“
@) 2NaCl + F—s  2NaE+Cl
Qi) MNaF + Cl! — NaCl + F:

Calculate the mass of water Ted; ‘. d in grams to di
the mass percentage of 10% solution.

ive 10 g of to prod

¥
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~

ii)  Which one of the following reactions is feasible? Give support to your answer,
a)2NaCl+Fa ___, 2NaF+Cl
b) NaF + Cl, NaCl + Fa
u@# IV /PART IV

ooy §) g eflen sagndsi alleoL weflssah,
i) gpaiGloury effenalibgin ertp LEN G imimsair
iii) Gamanunen B figaflst UL LD auengs.
i) Answer all the questions

ii) Each question carries seven marks.
iii) Draw the diagram wherever necessary.

—_—

Note : 3x7

3BA. 1) Peosugddar amssdr urama bt sCsguh gatmn TOESISRT GG
aflerd@s?
i) Qsrenw Cpradsafisr vwsramens & mis.
i) What are the types of inertia? Explain any one of them with an example.
i) List the advantages of Telescopes.

(or) (seva0g1)

33B. ) g uwppe gl gyeesmss GeoLGuurer  gGsmyb

apsingy
CaugiurBasmsrs Hms? ¢
i) epraug gt syEdle stugdsl whmib @i eraimenssy, ( Seven segment display ) ey
slam® sri Ao uglalld Qaafliu@ass.
i)  Give any three differences between the sound and light waves
i) Draw the picture of seven segment display for any one alpha numeric number.
34A. 1) A erarn & Ceorsb pefar gyeuigser o Lasnasrufle 3 opih QETsnrujid, i
B0 Carefmuyd eripsg. A grreflycer Qegrer®  Hooufd
allmeryfisg GoiwiB  p  sHdAns.Cugin  Asyerssueemure
58 dr(NaOH) alewaryflsgiGriniC g smdps, A, B wppid C 28
semfls. QUImSSOTaT FWATOFHLOLC L GaugléswsarurHsamer sregsl®
1) WLt sst srsieurm B wreurd e THURSg1AsTmen?
i) Metal A belongs to 3" period and 13th group in the modern periodic table of eleme™

A reacts with steam in red hot condition 1o form compound B, A also reacts with

alkali (NaOH) to form compound C. Find i iate ba
chemical equations. i oo £

i) How detergents cause water pollution?

(or) [a]ﬁ}ng)

i)

GadsPsrfiDFrmusats (g
purflasuuGADps!.

Nz"‘ 3H2 ‘__'_’ 2 NH3

Caisflal

apath b Gromssflir

CurisGES™MEIAY UM UTsQeram@1000 ACar ymi S Curaflur
purfiés aaineray ACur drri manc ramer Ty DD BT My
Gpmalu@LD esitums Guhsair. Gaudalamar apeih HemrasdlHs.

B ST LT TRAT Y
Gaglallmarsemi Aw Chrisais Guseurs s Gupid Caugalamersgsin
Gaemar. @lema piQairdry g THSHEST (B S,

In chemical industries the following chemical reaction is used to produce ammonia in
large scale.

Nz + 3H2

argalls Ao Grrisafle Gausmwrs

< 2NHs

. Based on mole concept, calculate the mass of nitrogen gas and hydrogen gas required in

if)

kilogram to produce 1000kg of ammonia by using the above chemical equation.
Write one example each for chemical reactions to be faster and chemical reactions to be
slower in your daily life activities.

drrafliGurés g Camawrers denw. aflrsgs.
Buyrrarsmar  soupdar Qrwiur@safldr spiumcnld wosiu@sL
aflauf].

Transpiration is a necessary evil in plants. Explain. :
Describe the types of neuron on the basis of their functions.

(OR) (syomzi)
s flefeaflsir eurppafluie afleeraysenst TSI FTST AT TS,
weimenrAanL Fali srisurmy sELIT?
Write any two physiological effects of ethylene.
How will you prevent soil erosion?
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wrdif) efeomssnst 22425 Model Question Paper 20248 &y
ugsnb eudiy - X STD
snflaflwsv - Science
{0 whHpb syiueleon subl - Tamil and English and version)
sreuth ey : 15 Hufl o+ 3 woenf]

4,25 alggsar® (25%) rbparre) senyad: sreiTLg)
) 25 W68 srdpenred 100 e £1A o_sirensy
)25 168l sthgarred 25 06 5 fsy o_siremgyy
@) 25 158 TSgeamTel 75 1flefl £flse o_girsTE).

LeE O sy 2 ) 75 168l erggemmsd 25 e £ o_drergy,
Time allowed : 15 mins + 3 hrs Maximum Marks .75 25 percent (25%) ethanol solution means
Wayeng: 1. G5 cHendsEHD s.l‘ﬁumf :9:&&:11 Lflourdl o drengr oo a) 25 ml ethanol in 100 ml of water b) 25 ml ethanol in 25 ml of water
sfrdigs Quivenaph sbstt gkl emodnite e ¢) 25 miethanol in7Smlofwater ) 75 ml ethanol in 25 mi of water
setmsremiitiLnenfLi 2 Lemgwnss Cafladdeand s P bt e )
s i il . ;
2. foulb Ssbevgy st el siupgaBDELd 13519 Gas i Gy W_f' o e :f@ & _ ) “”_@“""’ P L sre Gen Qausfimsflsy
vt Gds GausinBrosn dissr emashEl QUETAD LG sa, FaEG0 CUTUS! almaElureT o maurgh oy :
Instructions : 1. Check the question paper for faimess of printing. If there is any lack of faimes, o) syFsAsdng % )@mpdng
inform the Hall supervisor. @) D Gmpis Jar sfsfsdng =) ysdd gfsss A geondns:.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams, The amount of product formation in a ible reaction when the periodic
GO : Belelenndien pret Wilysanend: QsreiT 5l removal of the product takes place.
Mote : This question paper contains four parts a) increases b) decreases
g 1/ PART I c)first decreases then increases d) first increases and then decreases
@iioy: () seandg) efenndaemhain afie weafldsayb. B. FpsamBerer smppibsmer il Fllursr afenLsmws CaTHOSGHE s,
(i) Bsayis  Gunpdsioner  dordeom  CaifteGds o  EROGE 1) e rrair @i bsés Heaopews Qsream .
alieufamenuin sTIpES

. ; ; i} op Gaubhmem pevdsmn DausuGan msps SjEnIbs ) 2 meurdlnas.
Note: (i) Answer all the questions . 12x1=12 iil) 5 sefusfer Bamp asranib g Henpub Fioib.
(i1) Choose the most suitable answer and write the code with the corresponding answet - d o g Il G of &) iii @b &7
: ) : 3 i n T \Sf) j" ii, 1l &f 5)1 wHpID jii & @:l I.ﬂl_@w
1. Fer Gauiin el flaydgamsin ... FTTHSSHTEID.

) o6 Hemi Analyse the following and choase the comect sw.lemenl(s]
B} B_ERTEMLOWITST heTin ;

%) Qmﬂuﬁmm 2 _witey

o ; i) An electron has considerable mass ‘ )

@) Gurgaiar seiramin ) &) whmid ) ki ii) A hetero atomic molecule is formed from different kinds of atoms.

The co efficient of linear expansion dependson ............ ’ I_ { iii) Mass number and atomic mass of an eleat.’.inl I:‘TEMSB:: :
a)) original ifmglh " b) increasing temperature |‘ ; 3 :‘:; m thire :torrm i ) onlyii is correct _ &
©) nature of mater A, EEN Y 11 1s comre Frrnr . he! P

& s s ) ] . d) a)and b) 7 BRGs idLe £pssan apBlemeauis, ayEarflgeT o pusurdps?
- B ildrgens sremanflar ueemr G (SI )y .........., : e ) CO: FwafipbsiuBoduns
o ; . Purs wrpoGuTS! . 8 o : K
&) Guor ) gL i §) g ) gib WL &) ATPwrersy AD tu e padurs ™) e o g
ST unit of specific resistance is ..., 8) H:0 cpavsom guaseir ‘ﬂ“&uum follawing state, oxygen is produced.
It : " nich of  OXYEeR
\ a) mho b) ohm/metre ¢) ohm d) ohmmetce . I:;I-ln:g pr:;ops_)mmei;:ﬂ a:d wmchD 3 by when COy s fixed

- S| ST ............. Fesf g ; o . When 18 oKl d) All of these

e BSBET Serefldmewirar A NuEssms Qeusil! ©) when H,0 is splitted ) 3

- PALATL 08 : ! ¥ siapuitel 1) Tt AT
3)73 1 ai_bampon 21) 83 o s S DauTeT 8, G_mrr,digm_ﬂmmy 80 PR Frfurgd .
tg. D fﬂ.ﬂf #) 83 24 Qs reior_ @) ypefl QrdeTEE oo &
The elements having atomic number j T o , i w) 2
a) more than 83 b) less than &3 TED spontaneous radioactivity- 1 8) pE Qg gyeow
¢) less than 73 d) equal to 83 : 17
170 t
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Root hairs are
a) cortical cell
c¢) unicellular

b) projection of epidermal cell
d) both b and ¢
9. yemsUugeull upewal sTEHTH S(HSUILEHD o ulferib.....
=) FuCsr epuGavrur <) 9 FSAWrLEAL Résny
@) GusiiGuirGavrulls Qu@BpsTaUTRISET ) @)Hw CaraidT_sumesr
The organism considered to be the fossil bird is.......
a) Ginko biloba b) Archacopterix  ¢) Paleozoic fern d} Indian Gondwana

10. vaflsgfid of ger CsSLOD 9o Quen CHliED Gememss LU
o_Geurdlnsl. &Gyl ufler Bane

3)) PHLOWD 24} Gl mown @) @piowwid ) BTesTiows

In humans, a male and a female gamete fuse and form the zygote. The conditi
is.....

a) haploid

on of zygote

b) diploid c) triploid d) tetraploid
M. Qudsuydm CriEE, .............erérmy Quui-. '
3)) VwsECsflur o) sri&GsTor @) sridGarrior ) SMbGuUTLLT
Blood cancer is called .............
a) Leukemia b) Sarcoma c) Carcinoma d) Lipoma
12. senfliQurfufle GPOysmard Crsfgg mads ... Lwssru@B S pg).
=) Notepad <) Paint - @) Scanner &) Scratch
In computer ,............ is used to collect the notes.
a) Notepad b) Paint c) Scanner d) Scratch '
u@# 11/ PART II

@Oy : 1) gGseyid 7 eflewndisemé; aflevr werldasayLp.

if) (efewrm eretsr 228@ S Lmwons uileverfldsayip)

i) Answer any seven questions: (Q.No.22 is compulsory)

13. Gursgarss swsens allers; g seflsy Aautiy Wimio UweTUGeuG6iT &TFeRTLD s
Why are traffic signals are used in red colour? -

14, Qar@ss0uc_ Gsrer & Ho sflur? e
Burwiu@ssys.
Ceutiu eynmed ufiorhmnsHer Gurgy
@mﬂr'mﬂé;esitu@aﬂmg;. 8% Qaury
UBSSUUBS D).
State whether the following statement jg

During the process of transferring heat ¢
the body at higher temperature js heated

Note : 7x 2514

&I BuDT? eTardsmfl o_Log) afleLuflen®

G™Dhs Qautiuglensvufles \ﬂ—‘i"’m:ﬂunﬁ@i"
uBlaneufley 2 sirew GLimmsiT .."?",.wu

true or false s justify your answer.

T L
8% the body at lower temperature is cooled

ne
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16.

17.

18.

19,

20.

HUTTR - TTUUBD Y Qaveir sreire?

A source producing a sound of ﬁ‘cquency 90 Hz is
speed equal to (1/10) of the speed of
listener?

STOUT 9B QEFL'DU@L'JL] BID o_Garsip. &TUIUT, WY seblmen st 1370K 2 aflg
gmpbs Cariugloauls elmarfs, *B@0PD A e Grivgmss 55dng.
sroUT, AsARe st |, 1370K & ol o wi Qaiudameuish aflmeryflbg
Aoy Ap Gt B g5 S5%&Ds . A , B 2 Gaurgw allmarseyssrar
FweTQFiwiu’ L Gougs FOSTUT RS mar eTaggys

approaching a stationary listener with a
sound. What will be the frequency heard by the

Copper is a reddish brown metal, that reacts with O; at less than 1370 K to give A, a black
coloured compound, At a temperature greater than 1370 K, Copper reacts with O, to give B

which is a red coloured compound. Write the balanced chemical equations for the formation
of A and B.

PwelleT  Udeemioey, sreT (Qan iy Grr_reir) OTDIUCL.  uRWey  sTaT
SPYSESLLGSEng ? : 4]
Why is the teeth of rabbit called heterodont? ]

YmeTWL UTSISTUUTS meausdHés o_sayib SDWOILYSST wrenay?

*What are the structures involved in the protection of brain?

Feamrent_1 wpguid gfCarrenL_iisnu CupuBssis.

Differentiate phenotype and genotype. .

S hmi rDNA Qsryflsd s ui soufanurésao al. Guararg.

ST emTid Bese e ulflarsgld éﬂ@ﬁ:ug?g&rrg gtz piYssTLD
amibLgsss efsras vl @b pmpssiuGdTpar.

) S ppy Fifl eI ETTETD SAUDI

) S Doy soum eyerTed) sryewd &

8) FnHm LomHmiLb &mresTLd @ram(io &ifl

%) & m) WwhHpID &ryewTid Gran@d s

Mark the correct statement :
Assertion : rDNA is superior over
R"-'asqn : Desired genes are Inse
Organisms, ;

is wron,
3. Assertiom is correct and reason fs is wiong
n
b. Reason is correct and the assertio

i t
¢ Both assertion and reason 1S corr:C .
d. Both assertion and reason is Wro%8

idization techniques. e i
h{tber:i without introducing the undesirable gencs i target
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21, wenpfit CAalinfer psAudBIusms eTsis.
Write the importance of rainwater harvesting.

22. 25°C b o_siren Bifler ueliQuEmss wilUmusOsTan® ofaierer ‘”MDC_"“
suwatssisn Gsmes son s, (25C & w0l rmdr Suaicy, 1::
Guore [Q_.f 3)

From the value of ionic product of water at 25°C,  find out the con ;

£ ; i 5 ; 3 0e"m"ﬂ‘lou
hydroxylions. (At 25°C concentration of hydrogen ions in water is 10 mol/dm’) of
v 1l
PART III

&0y : i) aGsaud 7 alandaends o welldaayin.
i) (eflew ereder 32418 i’ Lmuioms LbevaldaayLn)

Note : Answer any seven questions: (Q. No.32 is compulsory) 7x 435
23.1) pobs stremusGaT @mamsmers QST UEEE Gamig L B sfama
Blroys.
<)) spallenars nspe : aflemsullsir Sipiyshmer -

semeflit gyreous Snssed
=) GumbFmer geirpide Gupul LI saransed : 955 Femenr aflensadr
sullflugdEn Curiiy ., ‘ :
ii) @ Clesirdlar fmeir - 2 mwriLi stefls,@lsusirfer SANUETTSmSE Srens.
i) Use the analogy to fill the blank
a) Opening a door Moment of force, Opening a water tap : ......ooovveoveeene. |
b) Pushing a bus by a group of people : Like paralle] forcés, Tug of war : .
ii) The power of a lens is - 2D. Find the focal length of 2 lens,
24. i) QsrEssiul Gsirar uLsdleflmbg el sTEGrreflis
sHemESHs.

Gsramgmss

ii) (U™) salieg Slair opsmmidse s ferey Epsasin oy Hayphps.
U™ + g

> X +Y

* 3l +Q( gyppes) o
CQaueflurgi Gl o s gaflodssr X whHmbD ]

Y wWemens sreims,

174

28.

j From the given figure, calculate angle of reflection of sound

ii) Nuclear fission of a uranium nucles (U™ as follows
U™ +gn' X +Y  + 3o +Q(encrgy),
R | Gleusi Beumy ﬁﬂﬂm-ima_uﬂsir SR GO srarmanildansuloray ..
QupmBLILg 2CsTCLrersar sTQrLILIfD.

o

) PO YPDES Bgysirar oo sranmilsma sysmeiu .......
ST Sy EILDADS),
ii) &I sTETUZ) eTaiTen? SIHUTYS58)55Tar CaFldFwsrurt spL TSI,
i)  Find the daughter nuclei X and Y emitted from the above reaction

a) Atoms of different elements having same number of
isotones.

b) The number of atoms present in a molecule is called its
What is rust? Write the chemical equation for the formation of rust.

are called

ii) :

) MgS0:TH;0 e sy Qauduiiu@sss Qurygs srsrar Ksphng? sflwrer
GadéFwstur e sTuggis.

i) - QEr@sstu’ s s ppflaryo,
#flwrer afloumear Gsiay OFis.

bl A sper BAG grimeiu@sgnshe Crriysmar all 4 LilgarGadr

smangdmaryn  pETDrs  SITilbs

Ans srerenwwrsdeanrs Qeudyfldsmpar.
srrenmin R: gL iGgmear@aafr s Hunb wpgid Qudsffun o lysssr Fie

ST WSSy WIEHE. :
=) Awpgis Rl Rayms Az allerégAng!.
. =) Asfl,Rgaupraig _ @) Asap Rsﬂ::g,
: .
5 Mg MgSOa-THzOEh““’d? " gson given and choose the correct
i) Understand the assertion statement and the re .
mﬂhoice o ive cleansing agents than
: : Detrgenisro o 80 luble.
:""“ u:R()A) ‘(chium a:d magnesium salts of detergents are water SOlbe
% ; ins the A.
a) A and R are correct, R explains €1
b) A lscorrect, Riswrong
t
d) AandRarecorrech R doesn’t €xP

n - i
soaps in hard water.

c)Aigwmns,Riscom

lain A.
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27. )

28.

29.

30. i

3

32,4

~

72.73% SéGrrugdar ppevdsmn Henmmwd sk LG e,
i) srursusmr GasT STOUMST WBFTEDILITST STHI S1E b, B @mhﬂgc_,
wmpuild) L FulssOuBADS . STTemRIST Fms.
i) The mass percentage of carbon is 27.28% and the mass percentage of ox
Calculate the molecular mass of that compound.

ii) Copper pyrites is the prime ore of copper. It is concentrated by froth float
Give the reason.

Ygen is 273,

ation Methyg

) pwsdlar sauressyrild @msOsguin sserwitiser STETULGoug ereir
i} gysfidmes alld srenusmz susnrwim).

i) Why are the rings of cartilages found in trachea of rabbit?
ii) Define reflex arc.

GFunens oy &fsitmer sreTUme wWirens? ThHHEHIS ST HET 5055,

What are synthetic auxins? Give examples,

) wrgalimii prisaflsd  wrgalrd FETSTID  eTsouTmI
Couam@n?

L F

i) @pdur o emmey o pusild = wi Semaflmer oA o galy
Bamgimuwulsir apsing GuwiburE L% USTU ST sT1g 515,
i)  How can menstrual hygiene be d during | days?

ii) Name three improved characteristics of wheat that helped India to achieve high
productivity,

) ydp CFed #rsrrems Blasvaflsdm b rausur) Gaupiu@alng?

i) ympuge aAQurmersmer BT s UTgIsThS Gaus(Hin?

i) How is a cancer eell different from a normal cell ?

i) Why fossil fuels are to be conserved?

) dersbutiselst sblsdr Caremissramsda STheuras Osuiiaug aor?

i) 5Q Wlsrson Qareirn_ e G p 20 Wiz sir @menrasiu@ans:
6A  flsirGarr wrang @5 GGl wflursl Lrbdng el b

T SeTEDOISE T T

Post, hang very low in hot summer, why?

nee 5 Qis connected o an electric source. If a current of 6 A
en find the amount of heay produced in 5 minutes.

LA 2 Baurgh Qauliugg)
i) Electric power lines in electrical
i) An electric heater of resista
flows through the heater, th
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0 Criugdd srivefer fap szelpb 27.28%, ssinaisr fay, ,, ot

UGA IV / PART Iy
) g eﬂmna‘sw

0 . @!bﬁﬂﬂ)j_ ﬂ . Lh
P §eIONG Bennsitngsn ey gy smaci
iii) Goemanurem @ misefigy ) kg,
Note * i) Answer all the questions 357921

ii) Each question carries seven marks,
i} Draw the diagram whereyer necessary,
pra@sl aRBma el g

Describe rocket propulsion.
(o) (oyiveugg)

8. ) ppoTny  ESTSmLmemer Lbs @)emsmriifed Boerssi
QsTEHUWSTUlSTSMLdsTsms Gurensumus
ET LTI
iy QT simpulld sHfuse 28 IGLriysefis uwsTasnar BHE
i) With the help of a circuit diagram derive the formula for the resultant resistance of three
r resistors in parallel?
i) Give the uses of radio isotopes in industries,

Guirgr fmimin
BEHHLASTEHDIY UL susnry

A D) Epdse Qurmlser stsususTey Al sysralléds o drarsm?
) 2 BLervser snant raer kg o) 3 Gurdssr &Barmiler cpedsnm)
@) 5 Gursbaen Fsvdhui spavdsm gy ) 4 GurTise UTsILTST ppalbsm
i) &8y Per@ssiiu Herer smpryash s, sanr srsr DTTE. #hm) o
aafi Amss s1esis
=) B soreadld) Gmphs Healld) 2_eier G D) SSTOUTET sTRTOUGD
) Fild) Garguid @GGamrerd smrésiulL seorsd FrHp swrse
sTamlu gk .
8) Adlar Qg Gsiupdemar Fphs PusGD Uyl S5 STOIGT
FQaralld 95 P Fid o_gilgsmin Glummer 50,

Frgeng 2 pflepnAps!- ) .
1) How many grams are there in the follovnri:i ;uhstantcsm of;Moﬁne e
! mo
%) 2 moles of hydrogen molecule d) 4 moles of phosphorous molecule

¢} 5 moles of sulphur molecule
. 1) Find out the following statements whether they are
correct statement. o
a) In a solution the component which i
b) Sodium chloride dissolved in water s
¢) When Silica gel is kept opem» It &
hygroscopic in nature.

True or False, If false give the

s present in lesser amount is called solvent.

forms a non-aqueous solution. o
moisture from the air, because it is

(or) (orvwsi)
177
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e LA
34B. i) o) CaCOyy+ Heat —>  CaOgyt COngp j) Draw and label the different

of Cflljolnt \-3561.['3] buudles.
) (Give reasons for the 10”0“""13 Sta

tements,
. oo ; . ) The movement of food substances in the phl. in all directi
Gupsair_  Gaudaflmarsser | syrrithg o meavulle @ ; oem can be in all direction,
I/ . 2] o % ‘ ﬂ' b5 @i D oy (b) Mature RBC in mammals dg noy have cell organelles,
poLOUDIUSHSTET Fr5HWE gy meT ©_cirsmar STETUDS sTp 51, (OR) (514 )
Sy
hE: b Gaudlal siflsd S s § - ;
=) Fpssranb Caudallmears 751 BHBlemewrsss) almen? ST rey Sos, @ s ) gieE s DT srcirenr?
NaOH (g + HCl (agy — > NaCl jagy + Ha O : ; . wi ..
ac) @ (a0) i) yBCLTUN, SIOUTE Ui uhns seimer B Sywaidies semad
CaHsg) + 5 Oz (g >3C02 (g +4 H20 g + Qaurtus osrenar. @evar Aurgiaurer ufammp CaTipsmss QareimG asrd gQr
il) £pssramib smhmissemsr ATTUHE by ehseTTR whHnih TEsamr, UMSHWTES &BS WPiGUor? p_dsssr alsvLdsrar srremimmans s,
SflvsHharear Quirmsswrer o DOIGEEDET UDSULIGG515. iif) wma-1  LHDIL a2 Bilflay Cpritsgnag B Curar e
=) B)ssi 95.5 % i Fmin Csirhs sevrad sflsrprwn ST CILIGID, CaumuTBEsoar aTpgs.
=) @éCsiusfer srw  aens eopyld Qurus usllésy Cureiny i) What are Okazaki fragments? .
; At ii) Octopus, cockroach and frog all have eyes, Can we group these animals together to
bt L establish a common evolutionary origin, Justify your answer.
B8) @sCrivsfemar Gerrs STy Cl% Teir (R Al Bd g Glurggg iii) Write any three diffe b 1 Type- diabetes and Type-2 diab
STTUTEAD Féah poLQupidpg:. :

i a) CaCOm-i- Heat —_— C&O[,J“' COz(';

CaCOy;+ Heat — CaOgy+ COyp

!
Analyse the above chemical reactions. At what condition(s) these reactions ar
feasible?
b) Which of the following chemical reactions is a neutralization reaction? Reason out.
NaOH(aq+ HCl(ag — NaCliag+ HzOp
CaHag) + 5025 —— 3COzg+ 4H;0()+ Heat
i Read and categorize the following stat that are suitable for ethanol and ethandi¢
acid

a) 95.5% of this 1's water soluti

b) Pure form of this compound change into i

¢) This compound undergoes decarboxyla
I5A. ) pohdmearsg SuUTE R

is called rectified sprit

ce like crystals on freezing |

tion on heating with sodalime. . |
Shempullsir udBaiy amssmant  U-°

SUMTHS| LT &smers &S,

ii) Spssam_ smppybsrer ETTEMEIS DG 5058,
&) yCarrwsHer aifurs £ty Gl e e g DTS u@ﬂwﬁﬂ
ue genssafld SLSULRANE.

=) urgmgsafsr ©flips RBCufd Qg SIS (i aau'wﬂ":'”@my
Blévensv,
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"Y

ol efleorngzner 20@4RX5 Model Question Paper mgqn@)
ugHMb UG - X STD
gmlaflwsy - Seience
(51640 wHmd Srivdleotd aufl - Tamil and English and version)
arauh vanay 15 Huflib+ 3 toaw)

Time allowed : 15 mins +3 lus

afgﬂa,lm;' 3

Lﬂé}ﬁﬁ_ﬁ&rm 75
Maximum M
1. madg  aiendsgnd sfuns odst  Ufend 2 dreargy ot

siunidss  Ganerenann  widsts  ubale @Dy ;“’ﬂ}
sansrenfiinmenfiis 2 1 emquinss Ouflaldsas n
2. Feuib srsbeg SHLIL eooufenar ST(LpEIUSHSD aqﬁ@mwmggb@m Gy
Lweliu(yde Gauan(bibLifiser auagausnELs GILsl L e (T
Instructions : 1. Check the question paper for faimess of
inform the Hall supervisor.

arks ;75

printing. If there is any lack of faimegg,

2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams,
@l : @elellenmisrcr meg, (Nfeysmend Olametor g
Note : This question paper contains four parts
U 1/ PART
GO () Simengs allemTdsEnd@ i afeoL wefssayn,
i) fisaue  Cunmdaioner  aflan ufaen CaibOls(Bdar  gehr @G
allene ufeoenin STLPSIS

Note; (i) Answer all the questions

is 12x 1=12
(ii) Choose the most suitable answer and write the code with the corresponding answer
1. 85 Qum(geaer Sl T @ Qsuaiulld p_sirm(}u;rgj -ﬂmpﬁﬂilﬂml—lq“

alems F ereirs. 5D aflsir Glpramae, B6 viisrenrd Ssupileir  mryalos

........ U5 @550,
=) 2F <) F/ 2 @)F/4 ¥ AF
F be the force between the two bodies pla i
; ced at i :
them is doubled then the gravitationa| ?on:e F w;]'tgertam distance. If the distance between
5 a) Z‘F' b) F/2 BEia -
i ﬂ'"’}l-::ré?ﬁr:"frﬁiﬂfﬂm nﬂ,ﬁ.!lﬂ?mL.ﬁ,ﬁ gm'ﬂu_rrra'rg_l ................ suifl&sner Lsi‘rsﬂ—-é'*quy
ie scan: ’;d‘:" i B) BeimsohCLson @) rrGsu =) @eneu oymadd’
i red light in Raman Scatlering containg lities
a) Stoke's b] Anti Sr_oke-s LT TP
. Ravieioh!
3. QautiuBemsu 2 Wifeursy Qurmefar :3ﬂ “:’le!ghs d) all the above
SPYEEUUGE DS, HIISE GHuU@L wrppin e

=) Barinafifla ) Qoutiugr- -

| . THmiy ' .
Variation in dlmenslons of any object dye © f:: in‘::-fuwaumfn ) cpp el e
&) Thermal Expansion b) Therma) Variation Mperature is called as,......-

<) Thermg| Convection dy Evaporation
180
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o

b=

-

o

) LS E Mgy eer @ Lﬂmmﬁqﬁjp HEES S S L Gwwires

srwg,[_grrrsﬁassuli' HeiTenLD gy Gamur® 1.7 af_ SflEd sreflsd Nemenriifeir

) ouiaflS 56T

3) e bDEsse L ) mgsh s U flansriiLydmsitanio
If the electronegativity difference between two bonde
1.7 then the nature of bonding is ........... .

(b) Covalent

) FEifmamiygsstam

d atoms in a molecule is greater than

{a) lonic (c) Polar (d) co-ordinate covalent
wrih e FesAEsmrun ugTAbsrsr sryeo

o)) Fileir L1 9P Br i =) Eflsit Bs1 @enpaurar mr b

@) £har Esrer pri L ifarmw &) Ffler i srar wEgsseTann
Deliquescence is due to

a) Strong affinity to water b) Weak affinity to water

¢) Strong hatred to water d) Inertness to water

20 GaugléFuglmaulls) allmsru), af nt

Qumst_saflsir Qapflayzsr......
&) Gougyul B @)msssirmer
&) senflds qpuywrssma

o) Cr wrflwrs @ masdsarper
%) Fwrs Grrs

In a chemical equilibrium, the concentrations of reactants and products are.....

a)remain different  b) remainsame  ¢) cannot be predicted d) are not equal
- @rdsiens o Mleain slmLullsT sy —_—

SfypssliuBdns.

=) FrfGarysi =) BaniiGarrsiv

) el Caimrsi ) arrefGamrsv

The blood sucking habit of Ieech isknownas ’

a)sanguivorous  b) herbivorous  c) omaivorous .d) ———

tyemaruilsir Gapup ubsTGb sgIlYS@TYD @ﬂ‘w&@ftﬂ BrEOUES]

. ) mapBursamiws
) Seurwsiv i

@) ariuev sGursn

The nervous band connects the tWo cerebral hemispheres of brain is

¢) corpus callosum d) pons

lamus
- by hypotha > . ‘
Quor e @prGunGsmdd Qoar-Grriudar aimueid N
Gl _rGlFsarl s & ) it gpepeT a) sowwBgla ) gemEs G
e B - <ition of ceniromere is
In metacentric chromosome; the position Uc) pobs i
a) the proximal end  b) distal end
181
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10.DNA aflyioGrens Gsmfiomiud _ DNA aflenseow éfml—m:ra,. Understaﬂd the assertion statement and the reason given and choose the correct choice.
" B

sremi Qarstasuflvar gy liLmLwrss CsTaTLg). Assertm:]u:r:l aialmys i tion thebody of higher temperature to the body of lower
o temperature.
=) il ) gleiwrppyppm Reason : The mass of the body is not altered when it is heated or cooled
@) uRIGECETHD ) el B Bib augsio QsrLi 2) Both t_hc assertion and the reason are true and the reason is the correct explanation of the
DNA fingerprinting is based on the principle of identifying -------—---—-- sequences of y Asierio: .
a) single stranded  b) mutated ¢) polymorphic df repetiive NA, b) i:;t:slslgt ?ziertlon and the reason are true but the reason is not the correct explanation of
1. AereumeuarsubmieT eTgi/sTemeu YewgLigeu sthlGlummer/seir 0 Assertion is true but the reason is false,
i, gmir ii. Blevgaf iii. Qui_Grmedlund d) Both the assertion and the reason are falge.
o e o P a S = 20 Y e 14, fsraT T BGTaleT Sdlemear auenrwmy?
i ) i ii i iii i, . ;
=) i o Gib <) i whmild @) i wpHmyd ) 1, i whHoyi i Define the unit of electrical energy consumption?
Which of the following is/are fossil fuel? . ’ e o G ; 3 '
E e & T i Feioans 15. "ol rGoemseailss Siaurp o ulflardss: oyfs sanmismsuilid arpLsrpsr.
a) i only b)iandii ¢) ii and iii d) i, ii and ii SETORTLO SICLSID-

12. Qu@EburErETAIETT®  sShsas  safafisels  LWSTUGSSOULGID Qs “Aquatic organisms live in large number in cold regions™. Write the reason.

QGTOUT(HETHET.ccvcneee LODAID <. 16. 95 sroedlsd o st waplrréms®  suafusr Gegey 1 x 10-1M eefisd
1) Gink, sl 4 CHRTRED, g ssmrasisr pH wgllismus srans o . ‘ |
The hydroxide ion concentration of a solution is 1 x 107"M. Find the pH of the solution?_ |
@) allerBLrer, sfleTdsiv ) gy er_rmi(®), leflgsn 3 ” N . 2
i : ; : ; STHDI FUTESSHEGLD STHYlLLT FUTFSSDEGH Curgeurar Blspss] azi?
More people are using ................ and .....cooeee operating systems in their computers. ' . ?
a) Mac, Amiga b) Solaris, i0S ~ ¢) Windows, LINUX  d) Android, Minix 3 17, @bhspsd Qaadsr sriugGHusd oL Aunans:? % e
ugg I What is the common step in acrobic and anacrobic pathway and where is it occur in a cell?
GOy : i) gCsgd 7 aflewmés@mnda, eflevr weldsaib, , 5 SwysstLGAns? ]
ii) (eflewr eredsr 224:@ S L muons Ligevedsayih) ; _ Why is the Sino-atrial node called the pacemaker of heart? s
Note: i) Answer any seven questions: (Q. No.22 is compulsory) o 722214 . weflgfes i wppiid 575 o Ciybaefis asnidos LTHDS®S PUUSUGSSID
13. Gar@ésiiult & s prilaruyo, sryersgameryn BSTDIrE Sy rminpg Ewrer e A Qummf& i .
B - f . lism in man.
ol uilmar Csia Qsiis. Name the hormones which regulates water and mineral metabolism in
Sappy :Qeuriuib eraGuirgin Qauliuglene oyfswrs o srer Qurmeied@Hs! 2, Rk
Ceuliudlene Genpeaurs o_srer G bl : . b B R |
5 oD 2 o S i) . eursd gper@eTgdY LDBIE - k
sy : 9@ Qurgmer Quiuiu@ssb CurGsr swag Gafiaised GUT =) @eirQarri Ligimy WA - P pp— g
Qurr@érﬂﬂ'n ;ﬁlmpu.ﬂw ﬂﬁﬁwﬁﬂﬁ)@fb ﬂmu@m@ @ﬂ}mw | Q‘,) STHE L@ﬂqﬁeﬂ' - i) Sﬁlﬂ“&” 5 aurd) w',!-,y,_h I_l_ﬂ'-’. : %
. __ ' P gL, D
) enDm WwHDID STrevIh AW @ rehri A & 'm;a”:{?j .. — i) euemm: A .
sflwrarallerssio i Guogud, saywams s ! & Higg st YRSt AL : el i 4 3 E.
3 3 I 1 . P _iv @m,i&ml i. : gl . .;_ .. {
B)mpp wppd srrei 28w G TR Fif). QOTTE, &STrenrd & pP 4 %) WF. e910] w ¥ _ 4 o e :

Filwrer allar&s606.
B)) sy sflurerg). eTTed SrremIn Hougy,

) snppI LEDIL STrETD Helu Qran@iv geuy,, o

A
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Match the following

Column A Column B
a) Atavism - i) caudal vertebrae and vermiform appendix
b) Vestigial organs - i} radiocarbon dating
¢) Wood park - iif) rudimentary tail and thick hair on the whole body
d) W.F. Libby - iv) Thiruvakkarai

21 2 L PUHL@IESHS STTERTIOTAT STTeRTlHdr srensu?
What are the contributing factors for Obesity?
22. snuadsfmhs Spguiuiud L FRureflurears sLalst o580 sr_.g‘}ﬁ;}ngmsg
damGie apdeowu sspew 2 alpry a@das Gsrsrding. £fld pallufsr Caugy
1450 Ball! arafléd sLedler g psfmens samsdHa?

A strong ultrasonic sound signal is sent from a ship towards the bottom of the sea, It is
received bly the receiver after 2 5. Calculate the depth of sea ? The speed of sound jn Waler
1450 ms™ 7

ug# 111/ PART 111
@By : i) g8senn 7 aferndaende s walldsab.
ii) (aflewn erad 324 SULmunnrs Lbeeidsaun)
Note : Answer any seven questions: (Q. No.32 is compulsory) Tx4=28

23. 1) g Qurgaflsr g 5 N aflne Qewdul®, HuGurgensr 5 GFfal? amn
SmaihE YE&GEMEANS srafld yiRurgsis Bampullmens sarsdps.
i) 36af o wgpsrer QurgGemrary 10 Qe arrdgli  malGeardsr
sausslufdng. Qeardlar owwusdsiimbs 20 Qs Gsrmevali iub
e Gardlng erafld Tbugdeir e GUBUmESD WHMD 2 wrsmss semsdeE
i) A force of 5N applied on a body produces and acceleration § cm s2. Calculate the mass
of the body.

if) An object of height 3em s placed at 10cm from a convex lens which produces an image
at 20;:; from its optical centre . Calculate the magnification and height of the imagt

24, Qurmssus.

=) | BeirGarmri Lip

o) | Dsirarygss Capun@
@) | Asirseni_ sremr

i wlardlmesr
Match the following
a)  Electric Current i) volt
b) Potential difference i) ohm meter
€) Specificresistance i) yay
d) Electric Power V) ampere

2

* 514 Qo A Lgaeirs USLUGH

*

95. 1)

LPHETEN  DigWISE aleneruldy X

LBI'IEII"{';DQ' L‘I—‘ﬁ@ X @m Sl sran
X S 4

iy 1 Al Flemp arggsyeni_ B0 a8 wasOGurmen
LRI 5
Gurg Qeusflurgd Qurgs BHDmas smﬁ@& T
j) Inthe nuclear reaction given below, the nucleus X changesto nucleus Y.

b o Lam Y gy e smairs
whpb Heom srairenens; srains,

i e O 2He's energy
What are the atomic number and mass number of Y?

Calculate the amount of energy released Coacts
; hen a rad fan fusi
and results in a mass defect of | ke when a radioactive substance undergoes fusion

=

ii

i) Gurd sremenflEmamus sraws
=) 279 ogyfeafluin
i) QET@ESOULLE shp)

=) 1.51 X 1022 NH4CI PR T myssiT
Wib, ST
sflwrear aflen_ullenar Criey Omiss.
sbp A
U BEISTETS).

srrenmd R ! sriuir gydsdlllomd urds

Yib peiTprE yomithg
SMUDBIUESSIULTS Eriut uTsArEAS Ldees D uceb

P
el

=) A, R @ram@is &h. R, A o aflerssns

) A &, R ey

@) A saug, R &

®) A, R @raw@in #f. R, A g allonés allsima)
i) Calculate the number of moles in,

a) 27g of Aluminium.

b) 1.51 x 10* molecules of NHiCl
i) Und 1§ the-as i il

choice, N : _
Assertion (A) : An uncleaned copper vessel is covered with greenish layer.
Reason (R) : Copper is not attacked by alkali

a) A and R are correct, R explains the A-

b} A is correct, R is wrong.

©) A is wrong, R is correct

;s oL s A
. R doesn’t explains & L !
d) A and R are correct Surs unsuBADs: A G i

alemeryfips @sfu L'nwgimm B

given below and choose the correct

Uriinir ) CoHaOz, @ririoid A gL

TR QehgmsssEADS"
) Caiuwmimdr A, B gé a5
185
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i) A Gaiwid eTHFeTEY 2 LG0T yfly B Qeringengs BB Gmﬁim}mw*%
FweTUT pL 6T(LDHIS
iii) @ sGauglaflenaruiisr CLWEDT sTQSIS-
An organic compound ‘A’ is widely used as a preservative and }ms the molecyar fo
C,H40;. This compound reacts with ethanol to form a sweet smelling compound ‘B’
i) Identify the compounds ‘A’ and ‘B’.
ii) Write the balanced chemical equation for the reaction between compoung « &
ethanol to form compound ‘B’.
iii) Name the chemical reaction.
28. 1) gefl almar wpmd Goer elmearullsr
allenemrailener QUT(hsTHsT Wreneu?
i) @éems Qawed whmb yeflFms Qruma Canub 5515
i) What are the reactants and products for both light and dark reactions,
ii) Differentiate voluntary actions from involuntary actions.

Ty,

dng

afleweru@ LT HsiTas whp;

29. LubED STUTSSRIETET GaGS iUl UL LD QT HS) LTSRS E,L s
aflend @ s.
Draw and label the diagram of a typical angiospermic ovule and describe it. .

30. i) 9@ srw Opl g srarwrarg (TT) sru GLoLS SreurssiL e (tt) sevriy
Qriuiu@ng. @Fe Garearmid Fi wpmid F2 sopamp srarbissn |
STEUSUENBSH SHTEM DLW THTUMS aflons Gs.

ii) gouprer sapend FG53) TLSD.
(=) e—miiyssfler LwsTur® wHDID umdﬂu@ﬁ,ﬁn‘m@ RariurlenLd s guaf
Friresiy Lmirellsr.
(=) upemeuser uTM_ysefledmHg Csrarplwsnea.

i) A pure tall plant (TT) is crossed with pure dwarf plant (tt), what would be the Fi and Py
generations? Explain. P
i) Correct the false statements.

(a) The use and disuse theory of organs was postulated by Charles Darwin. -
(b) Birds have evolved from mammals.

31. allvmgsafid soidar of lwsdlear allmerayser wreana?
What are the effects of hybrid vigour in animals.

32. 1) &riusr oL EMEQ suryenes Bl SWISH0 Bapalsr 1f5mrar G}ﬂ}imﬂma?

LHDID HWESSHT HTEELIBET Wrensy?
ii) grwEi dsrsrrdamss s gsiwr? 2 a3 ufene Puruiu@ss! - N @
. ide

i) What will be the impact of tempera :
water? perature and pressure while dissolving carbon! dio

ii) Does pure water conduct electricity? Justify youy e—

186

w

uggl IV / PART IV
@aﬂﬂ” ) GG Qﬂﬂmé&s@a’s@m allentwieszayis.
i) el aﬂmﬂaﬂm@w TP LoFN G tssmaah
iii) Goemanunar @ disefeh 1 U5,
i) Answer all the questions

ii) Each question carries seven marks.
iii) Draw the diagram wherever necessary.

te : '
No 3x 7=21

PA. i) ™ plevn 2L w Glurmer ey u TeID YU FwsGoussgls) Faidns. F
6T ﬂﬂméf Qewsul { t srsirm sren Bl Geusflufled v stsinp FeansGeausiors
WrHOWENLBEI 2 TaTn Herallsh YBssvoLdng. Assrammans Qsrany
aflens, Hlewm wHYID WEE558)HsTar CsrLieous smalésa.

i) erarygss  Camuriymar  syeral@io
@ ss@ailuillmear steuailsio @aeavriumi?
i) A body of mass m is initially moving with a velocity u. When a force F acts on the body

it picks up velocity v in t second so that the acceleration a is produced. Using this data
derive the relation between the force, mass and acceleration.

small  wrg?  Bsramal

ii) Which instrument is wsed to measure the potential difference?. How will you connect it
ina circuit? :
(or) Sybes
gila) Paauld o sror CsLEprmd CarsiuGlio Garhm SyFrelsusrantraTsi
o emepowrar 93 iCuaremld uTsurs B résCasn@eusis gail apad
srssusrey Goussgld GaLgporall () alwds QsimCas(i?
i) Qeauppl sl vwafsgn 3000 A goepmyster sewgyy gefuisT
= B ClauethrensmTd & TS
ST(Pdsdsam LTSI ESTTETBIEEDET STILSIS-
of sound move away from a stationary observer so that
observer finds the apparent frequency equal to half of the originala ﬁ‘eqlleqc)"-:n —

i) Calculate the frequency of visible light having wavelength 3000A° travelling

iii) X — rays should not be taken often- o ﬂ.mm b b Bear SIS,
A pefeor ﬂ@lé@&rﬁm&uﬂﬁr Gsmiur@asst TG0 B

| wppis Gegie) TENTD! FC Gauglaflenarullsir

iti) X- siuLBismers|iyssy
i) At what speed should a source

1i) aflemssru® G]ufr@g_'_&srﬂsﬁ'r @fus'u .
3 o 5
Couspomsis LTBdlepeT TS s

features of «Modern atomic theory”™

l . | i s 1 ce the rate ofa
9) :’nte any ﬁw.aﬂ1 sall::i o of reactants and concentration of reactants influen .
1i) Explain how the o
chemical reaction. . |
(or) (s1ows)
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.

34B. i) 300 Qswalsr @euii Henaudss 50 dlrmb Filsy 10 Arrip STOUTGen ey

SoTHE o5 BEallligw sy 2 marrdasiuBdlng erafls Gmt@”“@‘?ﬂ;&,
senrdlpmard sebAEs.

i) Gerissu B s Geidgn CuTws a6 UGFwsY & mardns TeiTLang
FEHS UL SgIei aflndgs.

i Cslcu!ale the sc_llubiliry ofa Sf}lmc at 300 K b?r disscl;lving 10g of solm:lz in 50g °f3°i\*em

i) Explain why micelles formation take place with a diagram when soap is added 1o Waxe,?-

35A. i) grecwle @uutuwidd erisurm menL GumEng?

35B.

i) swallsgnh, Aoragni gyeowdifar suydumufld ahrurmy Gm@u@d“"’mw?
i) How does locomotion take place in leech?
ii) How are arteries and veins structurally different from one another?

(OR) (syevsvz)
i) walstesiisr HIV uppfflu yflss whoih seagésms, geuisafs: A5l
Qarargnin gerawenwt) Glurgss) staaurn wrpu@dns?
i) g5 opefler paTawamen(s L g wslGs.
i) How can informational efforts change people’s HIV knowledge and behaviour?
ii) List out the advantages of tidal energy.

188

| EITNEENE 208428 Model Question Pa

USSTD eusly - X STD
gorw S eNuwssy - Science '
= e
(B0 DI B sk S8 - Tamil and English and version)
ey 15 BUOLLD+ 3 Loawf) g R sst,
e jowed 15 mins + 3 hrs Maxi e
: aximum Marks :75
.g,ﬂlundé@a} Qansirenayin, mwaéi;wsb o gm(m@y Sand;
aetnatamfitiuTeT iy i 2Lengunss Qpflefbmaycn - .
2. feuth vabeugy spin mucefenery fiTh]
s Y STehgIuEDELD g4 Gamg Beasiets oG
LSS Bueti(Bins i duey UDIUSDELT Cchrfe uqm(b;-.(amm e
troctions : 1. Check the question paper for

fai v .

infor the Hall supeovian, mess of printing. If there is any lack of faimess,

2. Use Blue (or) Black ink to write and underline an

@iy : @eteflenndandr pstg (Gifiy
Note : This question paper contains four parts

uE# 1/ PARTI

gy () enendgy ol ésendgn effent weldaays,

() fsapd  Cunmdsiorss el dfeen CoTiesGis s @A Guer

affent_uFevemuid e1(ipgys

(i) Answer all the questions

per 202226

1‘01“’ al

ol

d pencil to draw diagrams,
& Y -

Laf

et 12x 1=12

(ii) Choose the most suitable answer and write the code with the corresponding answer.
1. 9 dlrmin Blempusirer Qurgmensr 1 Qalall? omalhg phégalss Gsmaiu@ib

aflans
1N o) 10 @) 102 st &) 1 sosir
The force required to produce an acceleration of 1 cm s on a body of mass 1 g is
9 IN b) 10N & 10 dyne d) 1dyne
2 PICLr @ ey @eorafeer  ylured | Goded  sjEpésdoiag
YRdban mimenar o_sran_ S8 QITY e a5 S EILGE DS,
<) @mc‘uq sumyy o) paedlwsiy sumy
8) o wiftu suryy ) gyflgrar aury
L:lhc atoms or molecules of a gas do not interact with each other, then the gas is said to
Yarea] gag b)anidealgas  ©)anoblegas d)amare gay
3 ) .
O emre o_enrrisaiqw QFafysrt gedlufléir Sy Glausir
&) 10000 kHz,
) 50 kiz 4) 20 kHz @) 15000kHz )
The frequency, which is audible to the human earts g f
50 kit b) 20 kiz c) 15000
189
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4. om pdsm PG suens yaEEaTT YPESOUCIGUIET G e
S|YPHESUURF DS
) PUED pE D) 2) Gupy SEYNsm D

B) 955 Slgw WPVEED ) LS SjEmIcpe)didnm)
If a molecule is made of similar kind of atoms, then it is called

ey

{a) mono atomic molecule
(c) homo atomic molecule

(b) hetero atomic molecule
(d) poly atomic molecule

5. Weraumasmapsni Qur s, S Lsusnemmuilsr &agsrer aflenL_sspsir EMurgy
gereps CoHesE.
l A l BT&WPEITLD L& S i

eusmafl — Gausirafwin r&&Esaemey

l B \ STHHT sumdHHe i | ZIBFETEHMB L0
C | safimGarhn @@ss allmar | il | srpplssrs @pedle
QauuOu® S 51560

FD \u;‘)@!ﬂamr_gg,s'u iv | oyaufiGerm Glauliup@bsipamn

=) A-l, B-li, C-iii, D-iv =) A, B-iv , CHiii , D-ii
@) A-ii , B-iii, C-iv, DA ) A, B-iv, C-i |, DHili
Match the following and choose the correct option given below the table.

] A i Galvanisation i Silver-tin amalgam

[B | calcination ii | Coating with Zn

[ € | Redox reaction iii | Heating in the absence of air
| D | Dental filling iv__ | Alumino thermic process

() A-i,B-ii, C-iii , D-iv
(c) A-ii , Biii , Civ, D-i,

(b) A-i, B-iv, C-iii , D-ii
(d) A-ii, B-iv , C-i, D-iii

6. £psanps et aflnarsginefsr o)y duemLulld ;rﬂturrm; gmsuiflmsmt
5?7
o) CH=CH < CHs < CHz2=CH;
)CH=ZCH < CH2=CH; < CH,
@) CHs < CH2=CH; < CH=CH
&) CHa < CH=CH < CHz=CH:

Which of the following shows the right increasing order of reactivity?

(@CHZCH = < CHy < CH; = CH,

(B)CHECH < CH,=CH, < CH,

(c) CH, < CH;=CH, < CH=cH "

(d) CHs < CHECH < CHy=CH, i
130

1. @aurflaw SiPuliurang Fanr e_lghe o_saylng.
) Gauisgral =) Ay g sdsr @) yGsrrwie

) Gauig@zrind
Structure in roots that help to absorb water is

2) root hair b) cuticle c) phloem d) root cap

g, arbisianTsr AL Gaafld o dor P Qadser 2F sridsiper,
&) @GansCaTaTeT o) @)siraellsir @) w5 Gordsir ) Sy sAGLrdlsir
In the islets of Langerhans, beta cells secrete .
a) Glucagon b) Insulin ¢) Thymosin d) Oxytocin

9. uflamrgglsi Bubhmas Csiey Cariurt L weardlwrfbsut

) mrrri'n"lJG]ufr&ﬁ' =) el d @) wmoris ) Frirsds) Lriafsir
The theory of natural selection for evolution was proposed by .
a) Harshberger b) Libby ¢) Lamarck d) Charles Darwin

10. srilFaflwsh Qlrsedlsd o_maurgh yHmCETisE srammy @uwd.
o) psSsllur o) srisGsrur @) sridlGarrer &) sbGurior
Cancer of the epithelial cells is called
a) Leukemia b) Sarcoma ¢) Carcinoma d) Lymphoma

1. 5L Garriseild o awLngh s Bl Gauswrer @ OGluwiéfullarrs apubio

OO, LB
o) 95 wppd ) smppropd  @)efu adpd ) Froppw
The energy obtained from the mo t of water due to ocean Gdes is ....... :
2) Tidal energy b) Wind energy c) Solar energy d) water energy
12 semfaufle BoupleEst Qswsd ppsid 8_HaTESULED THS FO

Peueflu?Gib et GIESOLGEDS!-
o) SC.L_epar ) GariysEsrsiny

int
@) Garoy %) pain

i referred as. ..coveee-
The application in a computer created a0y output is generally p" ;nt
4) command b) folder o) file

g 1L/ PART I “
afenr wedsath. ; Tx =14
@Oy : i) gCaay? e ds@isS _ :
=3 x

i) e eretr 2264 SLLTUAT
qu,esllﬂﬂ-’b:

Heope) GFLs '

Note: i) Answeranyseven

13, Epsargyn sfii weoTULHOS
P/
I
!
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| e sperfloin palsyr Baflwafas S susnamTullsy laug Ggrgh
GWIL

i fa concave lens. 22 i . X eretrL, g
Complete the ray diagram o i hBs! 51 DB oy Guogyp DB FH0 fli-agy oy

5 { / 037A". X g meimi_plbmy oy 56 Gougls ST em_ B
T F STEHT i o Baursd .
‘ A [ i) A ID ﬁmc - ”ﬁm‘;hﬁt?sw peflonillms oy’ senenrufiis Buirymeir
) . ) . @@ﬂrugmﬁ FTHES W0DMD Aoz 2S5 wrs Qewsiu_ s,
. o Earsrsmafi® 50 el Hrad Prouciu . ! : ; . g, Es
T GW‘.Q" Bty YememL @@mums 20554ns. Guguh @z sanowsd UTSZlT iaeir

Gsrivswafs 50 ESUSghy 485 Wl Hss  GODADE. Q.
RanuiuGssie Curs Gsrar swafld Hrausdarglme 51.2 16 oys 2 widy,
aafidd Sraugdear Gzrpp Caniu afifley whHme e s Gauliu Qﬂﬁmm

ESHSUBDSTET T Qsinucin’, Couglswwsrur e erupss.
| j ‘Xisanclement that belongs to 1™ group of the modem periodic table, X" is a gas and
‘ i coshlom SR Vakio s 3, Identify and write the chemical symbol of *X’
S Als a‘rﬂeml and belongs to Boron family in modern periodic table acts as a good
J reducing agent. It reduces iron oxide into iron, It is used (o make household utensils.

= Fs . L] LD Boam i o i | %
Arad  gidy  Csreissmer (LTSI CY ] B Sreusfer Blengy } Qrinws  LwWSTURADg. A D o Garst Doty syhmemL

A container of capacity 70 ml is filled with a liquid up to 50 m]. When it is heated the liquig 3 ; ;
level falls to 48.5 ml and then rises to 51.2 ml. Find the apparent and real expansion, Write the balanced chemical equation for the reduction of iron oxide by ‘A",

. i) 1M1
15. @ 7
g il _ PART Il
- QU - ) srfwe | gy ) a8s@nb7 SBendaemnse e welssas, ]
oy GemfiiiuTei - i) arfeSlurd | if) (ellew e16tir 324k &1L oz Lflevalldsan) : |
&) sefraldurs - i) sew@ T .| Note: Answer any seven questions: (Q. No.32 is compulsory) Tx4=28
. 5B - WuCraflun | | B.0) 80° urgsrant Qaniuflmemu Qadaflr Qaifmais wrpps ?
Match the following .| i) ergrrent Qgramadsr Al Qulyswall LED CQgraassTT Al Quil iy s
a. Fuel - i) lead | THUGD TEHgUD @) HeiTepLEENET STROHIS.
b. Moderator - “) Helium i) Convert 80° F temperature into kelvin scale.
c. Coolant - iii) heavy water ii) Write any two advantages of LED TV over the normal TV
d. Shield - iv)uranium ; . L i p : ;
u) gllwrers GurenLsratismer wnyssTakisails) Gaswrsd urayas

16. 1 % 10°M Qureori Qsgilaysirar KOH senreafier pH undlisnus samsA@s.
Calculate the pH value of 1> 10 M KOH solution.

| aeT?
17. gpusflés L wrevmor sréarn 2_meaurdlsrmg? 7 J

i} s5bs sryaanis@mrp QsreiyuBss Gﬁml'_a__@t_mmw Briys.
) y@pism dae  yen GG HYSWESE GOSN © correeenen

How is diastema formed in rabbit?
18. fgueypenaruilsir uamfiseer sragss. &) SE s yBurysr : irsgssissyme sHfuss Corguib ! ..
Write the functions of cerebellum. i) Why does sourid propagate faster on a rainy season than on summer season?

) Use the analogy to filt the blank B
%) Nuclear fission : Atom bomb: ~ Nuclear fusion :..
b) Radiolodine :Goitre @  RadioSodium

18. yidser wab wsTpssGsitms pom QuIb wofsr Lsmyssr wrsmea?
Write the characteristics of insect pollinated flowers,
20. gywsd gfenars Qubp e ulflerisssr srimpred sreimen? { ;
What is meant by transgenic organisms? | g
21. lsirangs sifisyser sraiaing e pugdur Airper? { &) Gremy 50 o sidserepu 250 L8 & fled fmréaﬁg:irm,_urm 50 i‘:::
T U sisamyow 250 Ul @alibs s sersdprt, wri

Ftbaenganud HerOUTTESTT asin?

[ 1923
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i) &) Gumierfwid

$Berrenr ;gr'ra’;asmurarmc:u ﬂ“‘“‘“'i“’lkr.’,{:m
FirésemrsgL s @#irdgbGurg) Csusmsiogn oy Cruw
a_smm_rdns.Geuallsneruilsir Gaudlésusumnimig 5ma,

&) Ganiuglmamu e wrssnGurg GuTgiurs gm G‘Wﬂi\ﬂmﬁruﬂﬁ,

FflsNsdng. een?
i) Renu dissolves 50 g of sugar in 250 ml of hot water, Banu dissolves 50 £ Of same King
of sugar in 250 m! of cold water. Who will get faster dissolution of sy

gar? Why?
aqueous solutig,
cal equation of thig

i) a) When an aqueous solution of potassium chloride is added to an

silver nitrate, a white precipitate is formed. Give the chemi
reaction.

b) Generally the rate of a chemical reaction increases on raising the temperature, Why?
26. i)

s aflenarsefisr swsTEsdiwiur L GouglEFosirum_spL TS,

3)) NaOH ergzamauils SilsgLaT THUBSSID BEHBmaILTSs allenar,

o) sTEzaTT, Sjuflavin Qurl’l:.l_ﬂ‘ﬁlll.ll'n LG T (Hi_sir Yy
5FnCarhnalmer.
i) #@Cul sorsmed swsENSHE Blamno SISTRWY  LLSTLEG Sz
2 ug allmisow Burwiu@sss.
i)

Give the balanced chemical equation of the following reactions:
a) Neutralization of NaOH with ethanoic acid.

b) Oxidation of ethanol by acidified potassium dichromate . '
ii) Can nickel spatula be used to stir copper sulphate solution? Justify your answer. :

27. A stéirp Gafunin 20 Bowhn Hreuk whnih srflsene Qamrairg). Geiwin A st
wellow 573 K Qauivfmmild, o3 ppiute snrsd g Qrgupgid
Curg enan remsir Basm BeLCubn; oA e
oé& sei_gils. BeaiGadafamaruis
BaCagalsnarsmmar Fuallebuin L Gugs
Compound A is a colourless liqui

40 @ e meurdipgl. GoiwiA

STy g Hsir LIkt arsira!

equation of this reaction.
8. @malsfmag sraur Geudlgir 2_aTemmio i et 1y suamIr ulrrasrr'.mm&“'j‘ Lo
Draw the structure of a dicot root and |abe] :

_ the parts,
29. i) BUDTET g hanm fﬂmwm§r5 wrhmys,

Y

i) R s relenwd ST fssar L ?
yssiuGAng?
j Correct the false statements:

S8 gar Rh  srremfl TS

a) The vas deferens serves to transport the ovum,
b) The cerebral hemispheres of rabbit are connected by band of nerve tissue called
corpora quadrigemina,

ii) Who discovered Rh factor? Why it is calleq as Rh factor?

Srullssr & lmLufe usTidlary 5 meoursrg) STSlBUT DI 2 ib Qugdps) ?
i) Gpmd sATUYS Hnessrer BTrs Ll QumEso uhd aflaf,

iy How does developing embryo gets its nourish inside the moth s body?
iiy Discuss the method of plant breeding for disease resistance.

3. viewmosSherer o paalmrurs Blupmas Cxiray o sreng. stsiaummy?
Natural selection is a driving force for evolution - How?

2.0 yalulssr Cwpurinfer @owusL0E) mha Ths2 wrsgliyafluflsr iy
yEHSSWraTS, qa’iIng')un'!:iq FIOY wRss5H6 114 v disrs Smyin?

i) Gursiars weflss searmisr Qzaflaymyy &ri_ Audsir BApis Qs ransvay wiy
sTeTen?
i) At what height from the centre of the earth surface, the acceleration due to gravity will
be 1/4 th of its value on the surface of the earth,
i)  Tn common What is the value of least distance of distinct vision of a human?
ugdl IV
PART IV

GOLY: i) iy cRennssandei daLuenisen
i) et abarmafingth ap LGS
iii) Ggeauunes @LiiseR) L tb arDys.
i) Answer all the questions
ii) Each question carries seven marks.
iii) Draw the diagram wherever necessary.

Note - 3x7=21
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34A. i)

34B. i)

=) fet &pPlsd Lryih STGaTTL L SSlemarrd: S s
@) sirgeniwrsdlullsT HIEBE o_siar Lﬂdtﬂ’l@;&g GaumiuTCan_z =
Differentiate the defects: Myopia and Hypermetropia

! - a_u-i-l
|

14 1

Toing
i)

4n

K

] ol ko o)
6V

An electric lamp of resistance 20 ohm and a resistance of 4 ohm are connected i, Serie
to a 6 v battery as shown in the figure,

a) Find the total resistance of the circuit

b)  Find the current flowing through the circuit
c) Find the potential difference across the resistance
(or) (orsveogi)
33B. 1) umweatiu allifleys Hawrsih asiprsy srsrsr?

i) @esurdsisafar Cuphamer amearairs @) mliLg esr?

iii) sygmsEsm Usrey whnib Samssn Gememrallaar Ganiubsss.

i) What is the co- efficient of cubical expansion

ii} Explain why the ceilings of concert halls are curved.

iii) Differentiate Nuclear fission and Nuclear fusion.

iy éamn Hopssn el ouisdegsh Gl Cuuwrer Gz imu

auma.

Csrinflen griemwurbsd alsaranw ailarses.

Derive the relationship between Relative molecular mass and Vapour density.

Explain the mechanism of cleansing action of soap, )

(0r) (psvacss)

paflutisefisr pafor syarssar oL susmasufls sreau@ih HTHET

usiL et Gsrfurar dpsramib s hpsenssTar sllordsismer 565

<) 26 OsrLfd @ Amis wewrs ClrsannGurs el -ﬁﬂ'“’ﬂ””"d
GEpASTner KT G5 OsrEfuilh Cuedmpg Lors QasgupCuTd
ymal siflsNsdsmer.

@) Rt S gden whliysdar g

ii)
i)

i)

Qsrfd @ ifmis @F°

wasu‘?‘g“@ ABshsic 9o Cprefuils  Cuelmbs L
Qg Gurg gemhgin sremiu@dlsitnar.
3) sjwellursgn ohpeo gl seir by "
Mifs 206 Garfa EUAFHs
QergbCury  syflsfgigin s e “uﬂi

o 96 Cpredulh  Guemhs!
Qe GUTE Gaphgin SraiuG s e, :
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A

ii)

i)

i)

urtLrflut &Gsrr@ri e, QeutuiLGsES Sy goeir mrﬁqmm 2 gL
afensrulli LrRisafs oy BEDFYGT Likiig seirem? et
Give reason for the following statements on’
elements.

a) Along the period, from left to i
fiec]'ease whereas along the groups,
increase.

The electron affinity values increas
down the group.

periodic trends in modern periodic table of

ght, the atomic radius values of the clements
from the top to bottom, the atomic radius values

b) ¢ along the period from left to right and decrease

€)

The ionization energy values increase a
decrease down the group.

What is the role of manganese dioxide in the h
the production of oxygen gas?

long the period from left to right and

eating reaction of potassium chlorate for
s@|pTé Safl aeTprd adrer? aRsmbsTC G sEs.

pEHaTHET Eipriyms b LEm g o_memearwrsr Samwiny “A", £piypurs
BenrBsmers).

@& "B esitguid egyiy FLLafgager, "CT ererp 2 epssrs
Guridsiu’ Gersrgi. it
‘A ufledlmps, ‘D" sreimenils Tevires IETULEST SAeneanss) aupdsTper.

=) A" STSITLI) TS 2 pismud gHlsalng?

) 8" Tertiuih  erguby FlLsh  wHmb

e ssOuBih 2 snpssi

A weupHrler DUWLITFEMETS s pis.
What is parthenocarpic fruit? Give an example.
*A” is a cylindrical structure that begins from the lower end of medulla and extend
downwards, It is enclosed in bony cage *B” and covered by membrancs ‘C", As many as
‘D’ pairs of nerves arise from the structure ‘A’
a) Whatis A? 2
b) Name: bony cage ‘B’ and membraes
¢) How muchis D?

for ) st

! s Faayi.
©CrrGuorGsnfir smuimu Safiss

i b 4 Qi
], BT [FueireT QFwsiuTy DS sraGaTmID o Lpuuipd Gl
wafls o 1 efldr

; 5400

i) wedpg. Ao argamads  evp  udpddos
Aoypippiu@aps: P '
Cuoh Qs raraugeir FeTMEST "U:: : '
Explain the structure 0f8 Chr::‘:able ‘or normal functioning of human body. WEat &1°

¢ in daily life?
197

Regular physical exercise 8 & 00
the advantages of practising X
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